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[. A- Read the following text and do the tasks below.
Culture shock is an experience people may have
when they move to a foreign country with a new
cultural environment, which 1s different from their
own. For example, when a student starts studying
abroad, he/she experiences different things in
custom, dress and food. There are many symptoms
of transition shock including anger, boredom,
extreme homesickness, eating disturbances and
excessive critical reactions to host culture.
Sometimes the symptoms last just few days, but
more often they last weeks or even months. People
experiencing culture shock usually move through
four stages; they will initially have the honeymoon
stage which is characterized by a positive feeling
that everything is new and exciting. Then there will
be the frustration stage. it may be marked by
rejection of the new culture, as well as romanticizing
one's home culture. But then, with some time and
perhaps help from locals, people will start the
adjustment stage and begin to feel more familiar and
comfortable with the new environment. Adaption
and acceptance 1s the final stage which contributes to
the successful integration. In fact, there 1s no magic
solution for dealing with culture shock . Everyone
has to find his or her own balance between the
values of home country and those of the host
country.

Choose the right answer a. b. cord: (20 marks)

1. People begin to feel more confident and relaxed
during the ------------ stage.
A. honeymoon B. adjustment
C. frustration D. adaption

2. Transition shock symptoms include ------------
A. boredom B. homesickness
C. anger D. all of them

Read the following sentence and put (T) if it
is_true and (F) if it is_false: ( 10 marks)

3. Adaption and acceptance stage contributes to

unsuccessful integration. | |
- Choose the meaning / definition of the

following word: ( 10 marks )
4. The word "invaluable" means:

A. leaving something forever

B. extremely useful

C. given the right to do or own something

D. done by one member without the agreement

of others

I. B- Read the following text and do the tasks below.
Artificial Intelligence ( Al ) is the branch of science
and engineering specialized in making clever
machines, capable of thinking and imitating human-
level intelligence. One of the primary targets of Al
field 1s to produce fully intelligent agents that interact
with the surroundings and conduct human-like
behaviours. These agents are tools, having the ability to
Judge matter and differentiate what 1s wrong . The field
has started with robots, which can sense and react to
the world around them. They also cover purely
software-based agents, which can be actuated with
natural language and multimedia. Currently, the field
expands to driving, aviation, medicine, online
advertising, and personal assistance. The Al field 1s
based on computer science, information engineering,
mathematics, psychology, linguistics and many other
fields. The first spark started in the year 1950, when a
test of the ability of a machine to exhibit intelligent
behavior equivalent to that of a human was done. Since
then, the term Al has been introduced and closely
associated with the field of artificial intelligence which
was popular until the end of the 1980s. In the 1990s,
the new concept of * intelligent agent *“ emerged when
Al was not only limited to computer science, but
developed to include other areas like health, security,
education, music and business applications

Choose the right answer a, b, cord: (10 marks)
B, mmmmmmmeee- are two of the branches which (Al)

depends on.
A. informationengineering  B. linguistics

C. chemistry D. both Aand B
6 Clever machines , capable of imitating humans,
are examples of ------------ intelligence.
A. natural B. 1maginary
C. artificial D. classical

Read the following sentence and put (T) if it

IS true and (F) if it is false: ( 10 marks )
7. Clever machines are unable to judge matter and

distinguish what is wrong. [
& Choose the meaning / definition of the

following word: ( 10 marks)
8. The word "spark'" means:

A. avery small burning piece of material

B. the designing and flying of aircraft

C. the state of being neutral

D. making it difficult for somebody to do

something

Y e ) asaldll
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[I. Use of English

# Choose the right answer: (170 marks)
Many colors are used in the national flag . Each
has a specific ------------ |

A. symbol B. symbolic

C. symbolize D. symbolizes

10. I trusted him a lot , but unfortunately he gave

-

me ------------ _
A. pumpkins B. grapes
C. bread D. vines
11. Richard should ------------ apologize or leave
A. neither B. not only
C. either D. both
12. We must always be proud ------------ our parents.
A. In B. of
C. on D. with
13. If only my room ------------ bigger.
A. were B. 1s
C. was D. bothAandC
14. Give me a ring if you ------------ any help.
A. needed B. will need
C. need D. would need
15. We won't leave home until you ------------ |
A. arrive B. will arrive

C. had arrived D. are arriving

16. I cleaned my room myself . [ ------eemm-- .
A. didn’t have it cleaned B. don’t have it cleaned
C. had it cleaned D. have it cleaned

L e — that Tom Cruise 1s the richest
movie star.

A. believed
C. believing

B. believe
D. believes

18. The concept of citizenship ------------ during
the Middle Ages.
A. disappeared B. is disappearing

C. have disappeared D. has disappeared

22. Suzy's dog was cruel ------------ her.
A. nto B. to
C. for D. in

23. A friend won a school competition last week .
(express surprise)
A. Oh. that’s incredible. B. He doesn’t deserve that
C. No, thank you. D. That’s bad.
24. Throughout history, various societies ------------
different views about illnesses .
A. have developed B. develop
C. developed D. are developing
25. In 1906 ., Gandhi ----=------= huis first civil
disobedience campaign.
A. organized
C. had organized

B. has organized
D. had been organizing

[II. Writing :
A- Ask about the underlined words in

each sentence. (10 marks)
B, A Socisims R  R

B. Syrian nationality can be obtained by birth

or naturalization.
Wl iaisn s ——— R

B. The Nationality Law was enacted in_1969.

B- Choose the letter of the underlined
word or group of words that is not
correct: ( 10 marks)

28. | asked her how long it took her to get home?
A B C D

29. He invited her to the party, but she turned his down.
A B C D

C- Write a paragraph of no less than 80

words on the following topic: (30 marks)
# Write a composition of no more than 100

19. A true friend is someone - ---== IS Caring = . .
and living words about © The importance of law in
A. whose B. who people’s lives ™.
C. which D. whom The following prompts may help vou:
20. Unless he had given me enough money, - Why is it important ?
[ -----o-o---- the new car. * - How should parents encourage their children
A. wouldn’t have bought B. won't buy to obey laws ?
G wuu.ldn’t buy | D. would buy - What should schools do to empower the sense
21. The tr.:aln to the airport e at 5:00 - of dedication to law 9
. DIV _ ” 'S_anm tn.arrwmg - What should be done to those who do not obey
C. would arrive D. will be arrive law?
O LY o O
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Model answers

Remarks

I
A-(from 1 to 2)Each item 1s allotted 10 marks.

1. B. adjustment
2. D. all of them

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.
-If the student writes two letters or two choices for the

same number, consider the first.

(3 : This 1tem i1s allotted 10 marks.

3.False (F)

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s
accepted, e.g. (V/ X)or (wye).

- If the student writes the correction of the sentence, the
answer rates full mark.

(4 : This item is allotted 10 marks.

4 . B. extremely useful

B- (from 5 to 6): Each item is allotted 10 marks.

5. D. both A and B organs , cells and proteins
6. C. artificial

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number. consider the first.

(7 ): This item is allotted 10 marks.

7. F ( False )

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s

accepted, e.g. (‘\-"! X) or [_Uml;i =),
- If the student writes the correction of the sentence.
the answer rates full mark.

(8): This item i1s allotted 10 marks.

8 . A. a very small burning piece of material

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 23/10/2021 page 1
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II- (from 9 to 25 ): Each item is allotted 10 marks.

9. A. symbol - Only the mentioned answers are accepted.

10 .A . pumpkins - Both the letter corresponding to the correct answer
11. C. either
12 . B. of

13. D. both A and C | |
14 C. need - If the student writes two letters or two choices for

15. A. arrive the same number, consider the first.
16. A. didn’t have it cleaned

17. A. believed

18 . A. disappeared

19. B. who

20. A. wouldn’t have bought
21. A. arrives

22. B. to

23. A. Oh, that’s incredible .
24. A have developed

25. A. organized

and the correct choice are accepted, or one of
them.

III-A(from 26 to 27): Each item is allotted 5 |- Deduct 1 mark for a wrong question word.
- Deduct 1 marks for a grammar mistake provided

the total deduction shouldn't exceed 2 marks.

26.: How can Syrian nationality be obtained ? - If the student writes a wrong question word with
27. : When was the Nationality Law enacted ? more than one grammar mistake, the answer rates

Zero.
- If the student writes two questions for the same
answer, consider the first.

marks.

III-B.(fom 28 to 29 ) Each item is allotted 5
marks ) - Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer

28.D .
and the correct choice are accepted, or one of

29. D them.

I1I- C - Composition: (30 marks) - Deduct 1mark for any mistake
- Deduct Imarkonce for the same repeated mistake.
The 30 marks are distributed to 5 fields | _ O ayerage, a paragraph between70-80 words rates(30 marks).
as follows: - - A paragraph between 60-69 words rates (25 marks).
6 marks: communication Each field is allotted Smarks
6 marks: spelling and punctuation. | _ A paragraph between 50-59 words rates (20 marks).

6 marks: grammar. Each field 1s allotted 4marks.
6 marks: vocabulary - A paragraph between 40-49 words rates (15 marks).

6 marks: task response. Each field is allotted 3marks

- A paragraph between 30-39 words rates (10 marks).

Each field 1s allotted 2marks.

- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.

- If the student writes more than the required number of words, his
topic is accepted.
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I- Reading
I. A- Read the following text and do the tasks below.

Nationality law 1s the law governing the acquisition |
transmission and loss of Syrian citizenship . Syrian
citizenship is the status of being a citizen of the Syrian
Arab Republic and 1t can be obtained by birth or
naturalization . The Syrian nationality 1s determined
predominantly by paternity ( father ) . The place of birth
1s irrelevant | and being born in Syria doesn’t grant an
automatic right to Syrian nationality . Birth to a Syrian
mother doesn’t automatically confer nationality . If a
Syrian woman marries a foreign husband ., their
children will have the foreign husband’s nationality and
have no claim to Syrian nationality , even if they were
born and raised in Syria . The legal ramifications are
that these persons face a number of obstacles . one of
which 1s their inability to work 1n the public sector . The
other way to obtain Syrian nationality 1s through
naturalization . Non-nationals who have resided in the
country for over 5 years and fulfilled a number of
requirements can apply for naturalization . A foreign
woman who marries a Syrian man can naturalize on the
basis of that marriage , but a foreign husband cannot
acquire Syrian citizenship on the basis of marriage to a
Syrian wife .

Choose the right answer a, b, c or d : ( 20 marks)
1. The Syrian nationality 1s determmned atbithby ...........

A. paternity C. maternity
B. both parents D. preparatory
2. Nationality law governs ... ... of Syrian citizenship .
A. the transmission C. the acquisition
B. the loss D. all of them

Read the following sentence and put (1) if it is true
and (F) if it is false: ( 10 marks)
3. Synan citizenship is obtained only by naturalization. D
# _Choose the meaning / definition of the following
word: ( 10 marks )

4. The word acquisition means:

A. leaving something forever

B. the process by which you gain something

C. given the right to do or own something

D. done by one member without the agreement of others

I. B- Read the following text and do the tasks below.
The immune system has a vital role since 1t protects
your body from harmful substances, germs and cell
changes that could make you ill. It 1s made up of
various organs, cells and proteins. As long as your
immune system 1s running smoothly, you don’t notice
that 1t’s there. But 1f it stops working properly —
because 1t’s weak or can't fight particularly aggressive
germs — you get 1ll. Germs that your body has never
encountered before are also likely to make you ill.
Some germs will only make you 1ll the first time you
come into contact with them. These include childhood
diseases like chickenpox . Without an immune
system, we would have no way to fight harmful things
that enter our body from the outside or harmful
changes that occur inside our body The main tasks of
the body’s immune system are to fight disease-
causing germs (pathogens) like bacteria, viruses,
parasites or fungi, and to remove them from the body.
It also recognizes and neutralizes harmful substances
from the environment and it fights disease-causing
changes in the body, such as cancer cells.
Choose the right answer a, b, c or d : ( 20 marks)
5. The immune system consistsof ............... .

A. only various organs

B. the nerves and cells

C. various organs, cells and enzymes

D. various organs, cells and proteins
6. If the immune system is unable to work, ...... ...

A. you get better C. you become healthier

B. you get ill D. nothing happens
Read the following sentence and put (T) if it is
true and (F) if it is false: ( 10 marks )
7 .As long as your immune system is running well,

you don't notice that 1t’s there.
# Choose the meaning / definition of the
following word: ( 10 marks )

8 The word "fungi' means:
A. organisms that live on or in another organism of
a different species
B. a host cell which multiplies on other cells of the body
C. a simple type of plants that grows on the surface
D. a medical operation to replace a damaged organ
with another one

dclil] doed al hj el
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I1. Use of English

#% Choose the right answer:(170 marks)

9. If he has his credit card , he ------------- pay for
something in cash . He can use the card.

A. mustn’t C. shouldn’t

B. doesn’t have to D. should have

10 . You have to study hard in order not to ------
your parents pumpkins .

A. pay C. give
B. lose D. make
11.Richard should either apologize --------- leave .
A. nor C. but also
B. or D. and
12 . Some citizens take an —----- role in the community.
A. active C. action
B. activity D. actively
13. If only our neighbors ---------- arguing . They
annoy us.
A. stopped C. stop
B. would stop D. had stopped
14 _ If my car hadn’t run out of petrol , I ------ on time .
A. will arrive C. would arrive
B. would have arrived D. arrive

15. Inaweek’s time, [ ---------- the report .
A. will write C. will have written
B. am writing D. am about to write
16. I repaired the house myself [ -----------
A. didn’t have it repaired  C. had it repaired

B. don’t have 1t repaired D. have it repaired
17 Tom Cruise 1s said ------- the richest movie star.
A. to being C. being
B. was D. to be
18 . Diana ------- heavy clothes when i1t 1s cold .
A. wears C. 1s wearing
B. wore D. has worn
19. Which syllable is stressed in the word “unbelievable™?
A./un/ C./bei/
B./ liev/ D. / able /
20 . Wniting long essays on uninteresting topics 1s a
pain ---------- - the neck .
A. on C.in
B. of D. for
21. This 1s the teacher ------- lives in the centre of
Damascus .
A . whom C. whose
B. where D. who

22. Being late for the exam , Kamal was very angry and
----------- his temper .
A. made C. gave
B. raised D. lost
23. Your brother won a lottery .
A Are you serious ? C. No, thank you .
B. I'm sorry about that. D. That's bad .
24  Unless she had fastened the seat belt | she --=-------
injured.
A. would have C. will have been
B. would have been D. would be
25. By 1906 , Gandhi --------- - his first civil
disobedience campaign .
A . organized
B. has organized

C. had organized
D. has been organizing

I11. Writing:
A- Ask about the underlined words in each

sentence:(10 marks)

B: The article was published 1n France .
B: I bought the red car .

B- B- Choose the letter of the underlined word

or group of words that is not correct: ( 10m )
28. How long will the live fish live without food .

A B C D
29 Either the teacher or the students has planned to come.
A B C D

- Write a paragraph of no less than 80 words on
the following topic: (30 marks)

% Write an essay about the women’s role in the
Syrian society.
The following prompts may help vou:
- family
- achievements and contributions
- female figures from the Syrian society

* UL et *
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Model answers

Remarks

I
A-(from 1 to 2)Each item 1s allotted 10 marks.

1. A. paternity
2. D. all of them

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.
-If the student writes two letters or two choices for the

same number, consider the first.

(3 : This 1tem i1s allotted 10 marks.

3.False (F)

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s
accepted, e.g. (V/ X)or (wye).

- If the student writes the correction of the sentence, the
answer rates full mark.

(4 : This item is allotted 10 marks.

4 . B. the process by which you own something

B- (from 5 to 6): Each item is allotted 10 marks.

5. D. various organs , cells and proteins
6. B. you get 1l

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number. consider the first.

(7 ): This item is allotted 10 marks.

7.T (True)

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s

accepted, e.g. (‘\-"! X) or [_Uml;i =),
- If the student writes the correction of the sentence.
the answer rates full mark.

(8): This item i1s allotted 10 marks.

8 . C. a simple type of plants that grows on the
surface

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 23/10/2021 page 1

CamsScanner 2 Wgs a>gwaall

CamScanner 2 Wigs d> guwaall



II- (from 9 to 25 ): Each item is allotted 10 marks.

9. B. doesn’t have to - Only the mentioned answers are accepted.

10 . C. give your parents pumpkins - Both the letter corresponding to the correct answer
11. B. or

12 . A. active

13. B. would stop
14 B. would have arrived - If the student writes two letters or two choices for
15. C. will have written the same number, consider the first.

16. A. didn’t have it repaired
17. D. to be

18. A. wears

19. B./liev/

20. C.1n

21. D. who

22. D. lost

23. A. Are you serious ?

24. B. would have been

25. C. had organized

and the correct choice are accepted, or one of
them.

III-A(from 26 to 27): Each item is allotted 5 |- Deduct 1 mark for a wrong question word.

- Deduct 1 marks for a grammar mistake provided
the total deduction shouldn't exceed 2 marks.

26.: Where was the article published ? - If the student writes a wrong question word with
27. : Which car did you buy ? more than one grammar mistake, the answer rates

Zero.
- If the student writes two questions for the same
answer, consider the first

marks.

IHII-B.(fom 28 to 29 ) Each item is allotted 5
marks ) - Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of
them.

HI- C - Composition: (30 marks) - Deduct Imark for any mistake.
- Deduct Imarkonce for the same repeated mistake
The 30 marks are distributed to S fields | . Op, average, a paragraph between70-80 words rates(30 marks).
as follows: - A paragraph between 60-69 words rates (25 marks).
6 marks: communication Each field 1s allotted Smarks.
6 marks: spelling and punctuation. | _ A paragraph between 50-59 words rates (20 marks).
6 marks: grammar. Each field is allotted 4marks
6 marks: vocabulary - A paragraph between 40-49 words rates (15 marks).
6 marks: task response. Each field is allotted 3marks
- A paragraph between 30-39 words rates (10 marks).
Each field 1s allotted 2marks
- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.
- If the student writes more than the required number of words, his
topic 1s accepted
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I. Reading:

A- Read the following text and do the tasks below.

(UNICEF), originally known as the United Nations
International Children's Emergency Fund, 1s
responsible for providing humanitarian and
developmental aid to children worldwide. Despite
being highly active in fundraising, awareness, relief
work and research, very few people know the origin of
the organisation. UNICEF 1s supported entirely by the
voluntary contributions of governments, non-
governmental organisations, foundations, corporations
and private individuals and receives no funding from
the assessed dues of the United Nations. Most of the
fundraising 1s done by UNICEF's 36 national
committees, the voluntary support of millions of
people around the world, partners in government, civil
society and the private sector.

The agency 1s among the most widespread and
recognisable social welfare organisations in the world.
Though 1ts headquarters are in New York City, 1t
operates in over 190 countries, focusing on the welfare
of children 1n at-risk areas.

# Choose the right answer a, b, cord: (20marks)

1. UNICEF gets its funding from .. e
A. the UNICEF's 36 national committees.
B. the voluntary support of millions of people
around the world.
C. public schools.
D. both A and B

2. The agency’s headquartersare in ... ... .
A. 190 countries C. both A and B

B. New York City D. Austria

# Read the following sentence and put (T) if it is
true or (F) if it is false: (10 marks)

3. UNICEF 1s responsible for providing help to
children worldwide.

#% _Choose the meaning / definition of the following
word: (10 marks)

4. The word "voluntary' means:
A. leaving something forever
B. done willingly, not because you are forced
C. taking an 1dea and disapproving of it
D. continuing for a long time

— JsY! Al -

B- Read the following text and do the tasks below.

Bacteria are living organisms, but viruses aren’t. A
bacterium 1s a single complex cell. It can survive on
its own, inside or outside the body. This allows
bacteria to live in many places - soil, water, plants and
the human body. Most bacteria aren’t harmful; we
have many bacteria on and inside our body. especially
in the gut to help digest food. They also serve many
vital roles in nature by decomposing organic matter
and by converting nitrogen to chemicals usable by
plants. On the other hand, viruses are smaller and
aren’t cells. Unlike bacteria, they need a host such as a
human or an animal to multiply. Viruses only grow
and reproduce inside the host cells they infect. Their
life involves the hijacking of the biochemical activities
of a living cell

Diseases caused by a wviral infection include
influenza, common cold. flu, AIDS and Covid - 19.
Bacteria. on the other hand. have a more varied
operation and will often infect when the right
opportunity arises. Bacterial infections include

pneumonia, strep throat, ear infection and food
poisoning.

Choose the right answer a. b, cord: (20 marks)
5. Viruses need a host as ... ... .. to become

large in number.
A. a plant C. an animal
B. a human D. both Band C
6. The majority of bacteria ... ..........................
A, aren’t harmful C. are so dangerous
B. are so harmful  D. none of the above mentioned

# Read the following sentence and put (T) if it is
true or (F) if it is false: (10 marks)

7. Pneumonia 1s caused by a viral infection. D

# Choose the meaning / definition of the followin
word: ( 10 marks)

8 The word "gut" means:
A. attack to control something
B. a sign that something exists, especially bad
C. an acute inflammation of the lungs
D. a tube in the body through which food passes

e 2] M'I‘;! e
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Il. Use of English

#Choose the right answer: (170 marks)

9. To Jump oUt of YOUF ....ciuuiiviueisin oo MGANS that

you are very shocked .
A. limb C. skin
B. lung D. brain
10. When | feel like | am aboutto ... .........
leave the room.
A. go under the knife ~ C. lose my temper
B. reach out to D. win my temper
11. The skin provides the human body ....

sin s L

vitamin D.
A.on C. from
B. with D. off

12. lamsotired. IwishI .................. home earlier.
A. wouldn’t have gone  C. would have gone
B. went D. had gone
13. You would have some money 1n your pocket if you
.. 1t so generously.

A. gives C. didn't give
B. give D. had been giving
2.1 s ThEOH MIBVERE g
A. am having/changed C. have/change
B. have been/changed  D. had/change
15. She ............... as a waitress for three years when
he met her
A. works C. had been working

D. has worked
a lot of economic

B. 1s working
16, In recent years, SYna ... o
prosperity.
A. 1s undergoing
B. has undergone
17 ThE BRI i oosvne e
A. 15 controlling C. control
B. controls D. controlled
18. The local shop .................. by a well-known
thief yesterday.
A. were stolen

C. undergoes
D. undergo
..... all organs of the body

C. was stolen

B. stole D. has been stolen
19. It s .................. that the government will reduce
the taxes.
A. believe C. believes
B. believing D. believed
20. Thebus ..................... until 7:30 in the evening

C. arrives
D. not arrives

A. won't arrive
B. don’t arrive

21. I apologized to the woman .................. vou told
me about.
A. whom C. whose
B. where D. which

22. I'm sorry to trouble you at this early hour but I
need your help ... ........
A. urgent C. urgency
B. urgently D. emergent
23. The moment my brother ...... ....... _1n Syna, we
will hold a party.
A arrives B. will arrive
B. 1s going to arrive C. is about to arrive
24 Thisisthecity ..................... I was born in.

A. where C. which
B. who D. whose

2 1called hmwnier oo e s
A. 1s raining C. rains

B. was rainin D. has been rainin
= <

I11. Writing:

A- Ask about the underlined words in each
sentence: (10 marks)
B: This 1s my brother’s car.

7.4 . R

B: Ahmed arrives late at the meeting every morning

B- Choose the letter of the underlined word or
group of words that is not correct: (10 marks)

28. If you came on time. | will tell you the truth.

A B & D
29. By the end of this year, | drive 1.000 km with
A B C
my car.
D

C- Write a paragraph of no less than 80 words on
the following topic: (30 marks)

"Write a paragraph about environmental health."

The following prompts can help:

« setting laws to limit pollution.

* laws prohibiting smoking in public areas.
» awareness and health education.

» uncontaminated water. air, soil and food.

— Y et -
Our Best Wishes,
Teachers of the English Language
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Model answers

Remarks

I
A-(from 1 to 2)Each item 1s allotted 10 marks.

1. D.both AandB
2. B. in New York City

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.
-If the student writes two letters or two choices for the

same number, consider the first.

(3 : This 1tem i1s allotted 10 marks.

3. True (1)

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s
accepted, e.g. (V/ X)or (wye).

- If the student writes the correction of the sentence, the
answer rates full mark.

(4 : This item is allotted 10 marks.

4 . B. done willingly . not because you are forced

B- (from 5 to 6): Each item is allotted 10 marks.

5. D. both B and C
6. A. aren’t harmful

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number. consider the first.

(7 ): This item is allotted 10 marks.

7.False F

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s

accepted, e.g. (‘\-"! X) or [_Uml;i =),
- If the student writes the correction of the sentence.
the answer rates full mark.

(8): This item i1s allotted 10 marks.

8 . D. a tube in the body through which food passes

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 23/10/2021 page 1
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II- (from 9 to 25 ): Each item is allotted 10 marks.

9. C. skin - Only the mentioned answers are accepted.

10. C. lose my temper - Both the letter corresponding to the correct answer
11. B. with

12 . B. went

13. C. didn’t give
14 . a. am having / changed - If the student writes two letters or two choices for
15. C. had been working the same number, consider the first.

16. B. has undergone
17. B. controls

18 . C. was stolen
19. D. believed

20. A. won't arrive
21. A. whom

22. B. urgently

23. A. arrives

24. C. which

25. B. was raining

and the correct choice are accepted, or one of
them.

III-A(from 26 to 27): Each item is allotted 5 |- Deduct 1 mark for a wrong question word.
- Deduct 1 marks for a grammar mistake provided

the total deduction shouldn't exceed 2 marks.

26.: Whose car 1s this ? - If the student writes a wrong question word with

27. : Who arrives late at the meeting every morning ? | more than one grammar mistake, the answer rates
zero.

- If the student writes two questions for the same
answer, consider the first.

marks.

III-B.(fom 28 to 29 ) Each item is allotted 5
marks ) - Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer

28.B .
and the correct choice are accepted, or one of

29.C them.

I1I- C - Composition: (30 marks) - Deduct 1mark for any mistake
- Deduct Imarkonce for the same repeated mistake.
The 30 marks are distributed to 5 fields | _ O ayerage, a paragraph between70-80 words rates(30 marks).
as follows: - - A paragraph between 60-69 words rates (25 marks).
6 marks: communication Each field is allotted Smarks
6 marks: spelling and punctuation. | _ A paragraph between 50-59 words rates (20 marks).

6 marks: grammar. Each field 1s allotted 4marks.
6 marks: vocabulary - A paragraph between 40-49 words rates (15 marks).

6 marks: task response. Each field is allotted 3marks

- A paragraph between 30-39 words rates (10 marks).

Each field 1s allotted 2marks.

- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.

- If the student writes more than the required number of words, his
topic is accepted.
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A- Read the following text and do the tasks below.

Bill Gates has amassed a mind-boggling net worth
of close to $80 billion, and 1s known as the infamous
father of modern personal-computing software. He
brought us operating systems such as Microsoft DOS
and Windows, along with wildly-popular titles such as
Microsoft Office’s Word, Excel and PowerPoint.
However, at the age of seventeen-years old, his first
software company called. Trat-O-Data, which
analyzed raw traftic logs, failed.

Walt Disney is the creative genius who brought us
the likes of Mickey Mouse, Donald Duck and Snow
White. He created the Walt Disney Company after his
own namesake. Yet, he faced many failures. His first
company, Laugh-O-Gram went bankrupt It wasn’t
until 5 years later and plenty of heartache - after he
created Mickey Mouse - did he begin to experience a
small amount of success and fame.

# Choose the right answer a, b, c or d:

1. What 1s the thing that we owe Gates?
A. He created the Facebook.
B. He brought us the likes of Mickey Mouse.
C. He brought us operating systems such as
Microsoft DOS and Windows .
D. He invented the electric lamb.

(20marks)

2. Gates got a fortune which was considered ......... ...
A. confusingly great B. very tiny
C. amazingly large D.Both Aand C

# Read the following sentences and put (T) for |4 pead the

true sentences and (F) for false ones: (2Z0marks)

3. After creating Mickey Mouse, Disney began

going through a small amount of success.

B- Read the following text and do the tasks below.

In ancient times, people used to cure sickness by
using plants, herbs and other materials. In countries
such as Egypt, Greece, Rome, Mesopotamia and
India, medicine was magical and mythological and
diseases were attributed mostly to supernatural forces.
Thus, before hospitals developed, patients were
treated mostly 1n temples. The practice of medicine
during the Middle Ages was empirical: 1t focused
mainly on curing illnesses rather than discovering
their causes. At that time, cures continued to be a
mixture of superstitions, religion, herbal remedies,
bleeding and purging; people were bled to reduce
inflammation which was then thought to be the root of
all diseases. Moreover, medical schools were
established, but most people never saw a doctor
because of high cost treatments. Instead, people were
treated by local wise people who were skilled in the
use of herbs, or by priests, or barbers.

# Choose the right answer a, b, cor d: (20 marks)

6. In Egypt and Mesopotamia, medicine was related

A. ancient myths and stories  B. magic
C. acting D. both A and B

7. During the Middle Ages, the practice of medicine
was basedon ...... ... ..
A. 1deas

C. views

B. experience
D. discussion

following sentences and put (T) for true
(20marks)

sentences and (F) for false ones:

8. The books of Arabic science that emerged in the

13" century were written only by Muslim authors.

4. Bill Gates brought us widely-unpopular title§ 9 \fedical physicians used bleeding as a successful

such as Microsoft Office’s Word and PowerPoint.

remedy to decrease inflammation.

% Choose the meaning / definition of the following | # Choose the meaning / definition of the following

word: (10 marks)

5. bankrupt means:
A. money paid as debt
B. a means of guaranteeing protection or safety
C. reduced to a state of financial ruins
D. put an end to or get rid of

word: (10 marks)

10. purging means:
A. a response of body tissues to injury of the body
B. making somebody healthy and clean of bad
thoughts
C. the study of the structure of the body
D. money paid as debt

E._-,iL*-h -m, |‘; c'.,:!
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II. Use of English
# Choose the right answer: (140 marks)

1L Or .. ... recommended that little John
should have his tonsils out.
A. cardiologist
C. ophthalmologist

B. allergist

D. pediatrician

12. After a long tax season, getting on extra week off
with payis ..............

A. on the mend B. what the doctor ordered

C. at death’s door D. going under the knife
13. The airline company ................. to passengers
for the delay.
A. apologized B. apology
C. apologize D. apologetic

14. Our company has .............. financial difficulties

this month.
A. reached out to B. run into
C. fitted in D. kept into
15.1............... my computer for at least three years.
A. have had B. have been having
C. was having D. has

16. Modern medicine ... ....
late 18"™ century.
A. was starting
C. had started

17. The hotel near our office was closed because it
......... by the owner.
A. was renovating B. was being renovated
C. has been renovating D. had renovated

18. These clothes ......... ....... for daily use, so you
can wear them wherever you want.
A. are designing B. design
C. are designed D. have been designing

19, My BEOBEE .vvounannaaiiee
afternoon. He’s so tired now.
A. stood B. has been standing
C. stand D. have been standing

20. The lights went off when the police officers
wooer..... the evidence.

A. examine B. have examined
C. had been examined D. were examining

21. My father usually ................
shop by the corner.

veer.... to emerge In the

B. has started
D. started

.. 1n the queue all

~our food from a

22. The last sound of the -ed in the word "surfed" is

pronounced
A. hd/ B./V
C. /d/ D. v

23.1tis bad luck. Butitmaynot ............... .
A. be as bad as it seems B. be sorry about

C. be able to D. you feel better soon

24. Your brother has failed all his exams.
(Choose the appropriate response for the situation)
A. We are proud of you.
B. Congratulations !
C. You mustn’t let this depress you.
D. Well done ! keep it up .

III. Writing:

A- Ask about the underlined words in each
sentence: (20 marks)

B: Salwa bought a new car.
B: My workmate goes to work on foot.

B- There are two mistakes in the following
paragraph. Find them out and correct them, then

write down the paragraphs: (10 marks)

I am learning a bit of Arabic, but not very much I
understand some of the things that people says, but
only if I repeat them many times. I am enjoying
mine time in Damascus.

C- Write a paragraph of no less than 80 words on
the following topic: (30 marks)

"Write about someone who has influenced you to be
the best version."

The following questions may help vou:

¢ Who has been an influential person in your life?

e What do you admire most about this person?

e What specific things have you learned from this person?

e Which of his traits (e.g., special talents, skills, way of
treating others) do you hope to have yourself one day?

A. 1s buying B. buy e How has your life changed since meeting your role
C. has been buying D. buys model?
- Lt gt -
Our Best Wishes,

Teachers of the English Language
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Model answers Remarks

I- A.

_ _ - Only the mentioned answers are accepted.
(from 1 to 2) Each item is allotted 10 marks.

- Both the letter corresponding to the correct answer

1. C. He brought us operating systems such as and the correct choice are accepted, or one of them.

Microsoft Dos and Windows . -If the student writes two letters or two choices for the

2.D.Both Aand C same number, consider the first.

(from 3 to 4 : Each item is allotted 10 marks. - Only the mentioned answers are accepted.
- If the student writes both "true" and "false" for the

same number, consider the first.
3.True /(D) - Any sign or word that denotes true or false is

4. False /(F) accepted, e.g. (V/ x)or (s 5 za),
- If the student writes the correction of the sentence, the

answer rates full mark.

(question S): This item is allotted 10 marks.

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer

5 C /reduced to a state of financial ruins and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- It the student writes only the first word of the correct
answer, 1t rates full mark.

I- B. - Only the mentioned answers are accepted.

(from 6 to 7): Each item is allotted 10 marks. - Both the letter corresponding to the correct answer
6. (D) Both A and B and the correct choice are accepted, or one of them.

7. (B) / experience - If the student writes two letters or two choices for the

same number, consider the first.

(from 8 to 9 ): Each item is allotted 10 marks. - Only the mentioned answers are accepted.
- If the student writes both "true" and "false" for the

same number, consider the first.
8. False /(F) - Any sign or word that denotes true or false is

9.True /(T) accepted, e.g. (V/ %) or (s 5l za),
- If the student writes the correction of the sentence,

the answer rates full mark.

(question 10): This item is allotted 10 marks.

- Only the mentioned answer 1s accepted.
- Both the letter corresponding to the correct answer

_ and the correct choice are accepted, or one of them.
10. B. making somebody healthy and clean of bad

thoughts

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 6/11/2021 page 2 Written by: ML.al-Hussein and H. Kamel
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II- (from 11 to 24 ): Each item is allotted 10 marks.

11. D / pediatrician

12. B / what the doctor ordered
13. A. / apologized

14. B / run into

15. A / have had

16. D / started

17. B / was being renovated
18. B / are designed

19. B / has been standing

20. D / were examining

21. D / buys

22.B/ I/

23. A / be as bad as it seems
24. C/ you mustn’t let this depress you

IHI-A(from 25 to 26):
Each item i1s allotted 10 marks.

25. - What did Salwa buy?
- What did Salwa do?

26. - How does your workmate go to work?

I11-B.(5 marks for each correction )

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of
them.

- If the student writes two letters or two choices for
the same number, consider the first.

- Deduct 3marks for a wrong question word.

- Deduct 2 marks for a grammar mistake provided
the total deduction shouldn't exceed S marks.

- If the student writes a wrong question word with
more than one grammar mistake, the answer rates
Zero.

- If the student writes two questions for the same
answer, consider the first.

[ am learning a bit of Arabic, but not very much
I understand some of the things that people says,

but only if I repeat them many times. I am enjoying

- Each mistake being corrected rates 5 marks.
- If the student writes only the correction, his answer
rates 6 marks.

mine time in Damascus.

- Deduct 1mark for any mistake.

(30 marks) - Deduct Imarkonce for the same repeated mistake.

- C - Composition:

- On average, a paragraph between70-80 words rates(30 marks).

- A paragraph between 60-69 words rates (25 marks).
Each field is allotted Smarks.

- A paragraph between 50-59 words rates (20 marks).
Each field is allotted 4marks.

- A paragraph between 40-49 words rates (15 marks).
Each field is allotted 3marks.

- A paragraph between 30-39 words rates (10 marks).
Each field is allotted 2marks.

- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.

- If the student writes more than the required number of words, his
topic 1s accepted.

The 30 marks are distributed to 5 fields
as follows:

6 marks: communication

6 marks: spelling and punctuation.
6 marks: grammar.

6 marks: vocabulary

6 marks: task response.

Correction Scale : 6/11/2021 page 2 Written by: ML.al-Hussein and H. Kamel
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I-Read the following text then do the tasks below:

The Geneva Convention 1s a set of international
laws that protect injured soldiers and civilians during
war. The law makes sure that every person 1s treated
well and with respect. The first treaty was written in
1864 but 1t 1s often changed due to different types of
war. It was significantly updated in 1949 after World
War Two.
that

Syria 1s one of 200 countries in the world

agrees to follow the laws of the Geneva
Convention. The agreement 1s 1mportant because
during war a country might need help from neutral
the wounded. The Red

Crescent is one of the organizations that provides aid

organizations to care for

during times of war. It also helps injured people
during peacetime, and you may have seen ambulances
with the Red Crescent symbol in the street. Countries
who follow the laws of the Geneva Convention must
not attack civilians , and they are not allowed to fight
someone who 1s already hurt. It 1s 1llegal to 1gnore
these rules, and a country found guilty of committing
war crimes will be tried in a court of law and can be

severely punished.

i Answer the following questions: (10 marks)

1. What is the Red Crescent ?

2. What is forbidden under the Geneva Convention ?

#Find words in the text which mean the following:

(10 marks)
3. people in the army
# Rewrite this sentence about the text to
correct the information: (10 marks)

4. Syria refused to follow the laws of the Geneva

Convention.

I1. Read the following text then do the tasks below:

When oil is refined to make petrol and other
products, solid materials called resins are left over.
Resins can be heated and moulded into plastic
products. Common products made from plastic
include milk jugs, detergent containers and soft drink
bottles. When they are recycled , the new plastic can
take on very different forms , such as carpeting , park
benches, fibre filling for jackets, and many other
things. Recycling 1s not a complete answer to the
solid waste problem. Some materials can not be
recycled. There are not enough uses for some
recycled products, such as low-quality newspaper.
Finally all recycling processes require energy and
create some pollution. By reusing objects we can
reduce the need for disposal sites and the polluting

machinery used for some recycling processes.

#Choose the correct answer a. b or ¢: (10 marks)

5. All recycling processes need energy and produce. ..

a. some pollution
b. a lot of pollution
¢. too much pollution

# Match the underlined words from the text to the

definitions below: (10 marks)
6. degree of goodness
# Complete the following sentence  with
information from the text: (10 marks)

7. Resins are formed when ... ... ... ....

il m.aligtc_..
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III- Complete the following paragraph by filling

inthe gaps: (20 Marks)
8. When ... ... . rescue team arrived, many areas of

the city had been destroyed and thousands of
9. families ........... become refugees. Later studies

showed that the earthquake was very destructive.

IV- Fill in the spaces with words from the list.

Use each word once only: (20 Marks)
power, equal, lead
10. Galileo took two pieces of ... ......... . that were

of the same weight and tied them to two ropes of
 § IR

He gave his tather one rope to hold at the end with

......... length . He fixed the ropes to a chaur.

the weight.

V- Complete the following dialogue bv_writing
suitable questions or answers. Write at least

three words for each question: (30 Marks)
Nada: I was born in the country.

Nada: I moved to the city in order to complete my
study.
14. Ali : What do you miss most about country life?
Nada: .. ... .. .. ..,

VI- Rewrite the following sentences as required

in brackets: (30 Marks)

15. We have to start work early tomorrow.
(Use: I wish)

16. Not every country has a system like that.
(Use: 1 wish)

VII- Complete the following sentence clause:
(10 Marks)

17. If you want to pass yourexam, ......................

VIII- Choose the correct words in brackets:
(30 Marks)

18. Unemployment is falling as more people find
(permanently, permanent) work.

19. The players were (in, on) court for two hours.

20. The judge 1n charge of the (case, fine) carried his

documents 1n a leather case.

IX- Correct the verbs in brackets: (20 Marks)

21. My brother (write ) ................... tWo essays
so far today.
22. I was walking through town when I (think) ... ...

....... about my friend Ahmed.

X-Translation:

- Translate the following sentence into Arabic:
(15 Marks)

23. Recycling metal saves money and causes less

pollution than processing new metal.

- Translate the following sentence into English:
(15 Marks)

24. WS oLiadl daiall Joliell (nS)ue 395 Of iz -

Litealg> e Sdgll e

- Composition: (50 Marks)

Write a composition of no less than 80 words on
the following topic:

Should motorists who drive too fast in

residential areas be banned from driving?

— A gt -

Our Best Wishes,
Teachers of the English Language
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Model answers Remarks

I- (from 1 to 2) Each item is allotted 10 marks. - Any logical answer related to the text is accepted.

- Overlook irrelevant information unless 1t exceeds

1. (The Red Crescent 18) one of the organizations that
one sentence. If so. the answer rates zero.

provides aid during war and peacetime . _ ' _
- Deduct 1mark for any kind of mistake provided
that the total deduction shouldn’t exceed 3

marks.

2. (People who follow the laws of Geneva Convention)
must not attack civilians and they are not allowed
to fight someone already hurt .

(question 3): This item is allotted 10 marks.

b Wrﬂng AnsSwers rate zero.

3. soldiers - If the student writes two answers for the same
item. consider the first.

(question 4 ): This _item is allotted 10_marks. - Any logical answer related to the text is accepted.

4. Syria is one of the 200 countries in the world that | - Deduct Imark for any kind of mistake provided

agrees to follow the laws of Geneva Convention . that the total deduction shouldn’t exceed 3
marks.

- If the student writes only the correction. his

answer rates 3marks.

I1- (question S ): This item is allotted 10 marks.

- Either the letter or the complete answer 1s
accepted or both.

5. (a) / some pollution - Wrong answers rate zero.

- If the student writes two answers for the same

item. consider the first.

(question 6): This item is allotted 10 marks.

- Wmng answers rate zero.

6 . quality - If the student writes more than one answer for the

same item, his answer rates zero even if one of
them 1s correct.

(question 7 ): This item is allotted 10 marks. - Any logical and correct completion is accepted.

7. ooiverooo...... when oil is refined to make petrol |- Deduct 2 marks for any kind of mistake.

- Any addition or omission that doesn’t make
and other products.

distortion 1s overlooked, or else 1t rates zero.

Correction scale / 2.11.2021 Page 1
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II1- (from 8 to 9): Each item 1s allotted 10 marks.

- If the student writes two answers for the same
8. the item, consider the first.
9. had - Wrong answers rate zero.

IV- (from 10 to 11): Each item is allotted 10 marks.

- Only the mentioned answers are accepted.

10. lead - If the student writes two answers in one space, his

answer rates zero.

11. equal

- Repeating the same answer more than once rates
zero. even if one of them 1s correct.

- Answers 1n the form of numbers rate zero.

V- (from 12 to 14): Each item is allotted 10 marks. - Deduct 3marks for a wrong question word.

12.Where were you born? - Deduct 2 marks for a grammar mistake provided

13. Why did you move to the city ? the total deduction shouldn't exceed 4 marks.

14. I miss the fresh air life. - If the student writes a wrong question word with

; S more than one grammar mistake, the answer
(Any logical answer 1s accepted)
rates zero.
- If the student writes two questions for the same
answer, consider the first.
- Any logical question or answer related to the

dialogue is accepted.

VI- (from 15 to 16): Each item is allotted 10 marks.

- Deduct 2 marks for each grammar mistake
18 1 widh we dida® Tave o itk work: eaily provided that the total deduction shouldn't exceed

tOMOITOW 4 marks 1if the sentence still makes sense.

16 . I wish every country had a system like that. - In answer (15 and 16) deduct 2 marks for

omitting * I wish"

VII- (17): This item is allotted 10 marks. - The completion that doesn't make sense rates

zero, even if it 1s grammatically correct.
17. ........... (subject + should/have to / will have to / | - If the completion doesn’t have a subject or a verb,
must + infinitive of the verb) the answer rates zero.

- Deduct 2 marks for any grammar mistake.

- Deduct 1 mark for any spelling mistake.

Correction scale / 2.11.2021 Page 2
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VIII- (from 18 to 20

18. permanent
19. on
20). case

- (from 21 to 22) - Each item is allotted 10 marks.

Each item is allotted 10 marks.

- Two answers for the same 1tem rates zero.

21. has written
22. thought

X- Translation:

Ao (Oaall) Osbaall padl B3k} |y 01} -23

Odnall Badlas oo 3T Sl s}
§.ddad)

24. { We must / should / have to be
aware of the possible dangers} {of
spending too much time at our
computers. |

X1- Composition: (50 marks)

The 50 marks are distributed to 5 fields

as follows:
10 marks: communication
10 marks: spelling and punctuation.
10 marks: grammar.
10 marks: vocabulary
10 marks: task response.

Correction scale / 2.11.2021

- Only the mentioned answers are accepted.

- Complete (verb forms) are required, otherwise
the answer rates zero.

- Wrong answers rate zero.

- Sentence 23 is allotted 15 marks. It i1s divided into two units.
8 marks for the first unit and 7 marks for the second one.
- Sentence 24 is allotted 15 marks. It i1s divided into two units.
8 marks for the first unit and 7 marks for the second one.

- Each unit 1s treated separately.

- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake,

provided that the total deduction for the whole sentence shouldn’t

exceed 3 marks if the sentence still makes sense.
- Any logical translation 1s accepted.

- Deduct Imark for any mistake.
- Deduct 1Imarkonce for the same repeated mistake.

- On average, a paragraph between70-80 words rates(50 marks).
- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks.
- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks.
- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 8 marks.
- A paragraph between 30-39 words rates (25 marks).
Each field is allotted S marks.
- A paragraph between 20-29 words rates (20 marks).
Each field is allotted 4 marks.
- If the student writes less than 20 words, give 5 marks for each
correct relevant sentence.
- If the student writes more than the required number of words, his
topic 1s accepted.

Page 3 Written by: M.al-Hussein and H. Kamel
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A- Read the following text and do the tasks below.

Success 1s no accident. It 1s hard work,
perseverance, learning, studying, sacrifice and most of
all, love of what you are doing or learning to do.
Success, by definition, means to accomplish your goals.

It 1s also believed by many people that a successtul
person must be rich, but in many cases, money cannot
buy you success. In fact, there are some factors which
help us be successful. Start by setting your goals.
Having a goal 1s an essential thing, but it should be a
smart goal which 1s achievable. It requires to stretch
your capabilities and to stay committed and remind
yourself that it 1s not the end of the road. One step
more, 1f there was only one secret to success, it would
be preparation. It will set you in the best position to
execute the task with the least difficulty.

Timing also is a crucial ingredient to success. The
only method of obtaining good timing is through
repetition or experience. Furthermore, one needs
confidence to be successful.

# Choose the right answer a. b.cord: (20marks)

1. ................. 1s the main factor which helps you to
be successful.
A. Poverty
B. Laziness

C. Depression
D. Setting your goals
2. Success 1s no accident because ... ... ... ..

A. it 1s easy to be successful. C. it 1s hard work.
B. it doesn’t need learning  D. Both A and B

# Read the following sentences and put (T) for

true sentences and (F) for false ones: (20marks)

3. Preparation is the secret to success. [
4. Having a goal is an important thing, but it should be

a smart goal which 1s unachievable.

# Choose the meaning / definition of the following
word: (10 marks)

S. perseverance means:
A. certain to happen and cannot be avoided

B. determination to keep ftrying to achieve
something in spite of difficulties

C. hard work
D. to imitiate or activate something

B- Read the following text and do the tasks below.

Man by nature makes mistakes, so be tolerant and
seek excuses for those around you, and if someone
comes to you with an apology, do not stop him, and do
not carry in your heart any envy of anyone. There are
no alternatives to exercising, eating well, fresh air and
sunshine. Take care of your health and make it a
priority for your entire life.

The pursuit of success will make you succeed in
the end, no matter how long the period 1s, but keep
trying. Failure 1s a great teacher in life. It teaches us
humility and how to correct our course of life. A great
example 1s Thomas Edison. He failed many times, but
he did not give up until he succeeded. Even when he
failed, Edison learned something ‘I get results in
everything I try,” he said.

The golden rule for everybody is to be honest,
trustful, useful and generous so that they leave life with a
trace that those around them will not forget about.

i Choose the right answer a, b, cord: (20 marks)

6. We should be tolerant of others because ... ... ... ..
A. man by nature doesn’t make mistakes.
B. man likes to talk about himself.
C. man by nature makes mistakes.
D. man likes nature.

7. Taking care of our health ... ............ our chance to
achieve success.
A. decreases
B. increases

C. reduces
D. lessens

# Read the following sentences and put (T) for
true sentences and (F) for false ones: (20marks)

8. Edison gave up when he failed many times.

9. To leave a memorable trace, a person must be

honest, trustful, useful and generous.

% Choose the meaning / definition of the following
word: (10 marks)

10. humility means:
A. too much pride in one’s self
B. not serious, important or valuable
C. to receive a characteristic in someone’s behavior
D. modesty
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I1. Use of English 23. Your friend is a heavy smoker.
# Choose the right answer: (140 marks) (Give him advice to quit smoking)

A. It I were you, I would quit smoking.

11 She hated to say the words for fear of causing. ... .... B. OK. 1 can do that .
o hi”‘f- * C. Yes, you're night. I'll do that.
A. pain @ pﬂll‘llEES D. Both A and B
B. painful D. painfully

24. Your father has got a new promotion at work.
( Express congratulations )
A. We are proud of you

12. The group had one successful song but failed to
e . with another hit record.
A. fitin C. reach out to

) B. I'm sorry about what happened.
B. run into D. follow thrﬂfugh C. You mustn't let this depress you.
13. Youreally ..................... when you picked that

| _ D. I'm sure this won’t happen again.
swimmer to win the race.

A. backed the wrong horse C.were dead in the water | 11I. Writing:

Dedced atest ‘ D.jomed the ranks of | o Ak about the underlined words in_each
14. l.l'ﬂfd my daughter 1f she d1d|11't !m thg T, semtence: (20 marks)
time she would break the car’s side mirror.
A. sell C. break BIRE i in ik Sl S i e s
B. brake D. cell B: She’s finished three stories so far.
15. By the time I arrived, they ............ the important 0. 0. ERR———
issues. B: My brother is an_engineer.
: :;?3?:5:55& 4 (I:) t:iz;::uciscussed B- There are Twu mistakes in the following
16. How long .........cccooeeeeeeeee. your English teacher ? paragraph. ¥ind them out and correct them.
A. have you known C. are you knowing then write down the paragraphs: (10 marks)
B. have you been knowing  D. had you know A few week ago, a woman called to report a
17. Nada: Your hands are very cold. robbery at her house. It happened at four in the
Tom: Yes,I........................ the fridge. afternoon when she is watching news on TV. The
A. had been defrosting C. will defrost burglar came in through the front door and stole her
B. have been defrosting D. defrost purse.
18.1................. my workmate last night.
A. see C. was seeing
B. saw D. have seen
19. ............... to the museum before?
A. Have you been C. Did you go
B. Have you been going D. Are you going
20. The lecture usually ----------- before six o’clock C- Write a paragraph of no less than 80 words
A. starts C. was starting on the following topic: (30 marks)
B. had started D. is starting

A job you want after graduation. What kind of
challenges you expect to face in your future
career?

21. The scientists launched the new drug. They
civsiviasiaviess 1ETOTTIVE YRRES
A. had been developing C. are developing

B. develop D. develops Include the following in your composition:
22. The last sound of the -ed in the word "announced" * Job requirements

1s pronounced * Your needs

A. 1t/ B. /id/ » Expectations

C. /d/ D. /it/ * Beliefs and knowledge
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Our Best Wishes,
Teachers of the English Language
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Model answers Remarks

I-

: , - Only the mentioned answers are accepted.
A- (from 1 to 2) Each item 1s allotted 10 marks.

- Both the letter corresponding to the correct answer and
1. (D) Setting your goals the correct choice are accepted, or one of them.

2. (C) It 1s hard work - If the student writes two letters or two choices for the
same number, consider the first.

(from 3 to 4 : Each item 1s allotted 10 marks.

- Only the mentioned answers are accepted.
- If the student writes both "true” and "false" for the

same number, consider the first.
3. True / (T)

- Any sign or word that denotes true or false 1s accepted,
4. False / (F)

e.g. (V/x) or (s 5l ).
- If the student writes the correction of the sentence, the
answer rates full mark.

(question 5): This item is allotted 10 marks.

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer and

5 . (B) / determination to keep trying to achieve the correct choice are accepted, or one of them.
something in spite of difficulties. - If the student writes two letters or two choices for the

same number, consider the first.
- If the student writes only the first word of the correct
answer, it rates full mark.

B-_(from 6 to 7): Each item is allotted 10 marks. | . Oply the mentioned answers are accepted.

6. (C) / man by nature makes mistakes. - Both the letter cnr‘respnndmg to the cﬂrrec} answer
7. (B) / increases and the correct choice are accepted, or one of them.
- If the student writes two letters or two choices for the

same number, consider the first.

(from 8 to 9 ): Each _item is allotted 10 marks. - Only the mentioned answers are accepted.

- If the student writes both "true" and "false" for the

same number. consider the first.

8. False / (F)

9. True / (T) - Any sign or word that denotes true or false 1is

accepted, e.g. (V/ x) or (Las 5l ma),
- If the student writes the correction of the sentence.

the answer rates full mark.

(question 10): This item is allotted 10 marks.

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.
i ge Fmndesty - If the student writes two letters or two choices for the

same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

Correction Scale : 23/10/2021 page 1
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I1- (from 11 to 24 ): Each item 1s allotted 10 marks.

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22,
23.
24.

. pain - Only the mentioned answers are accepted.

. follow through - Both the letter corresponding to the correct answer

. backed the wrong horse and the correct choice are accepted, or one of
brake

had discussed

. have you known

have been defrosting

saw

. Have you been

. starts

. had been developing

[t/

. If I were you , I would quit smoking .
. We are proud of you .

them.
- If the student writes two letters or two choices for
the same number, consider the first.

OCEPPPOAOREPOEP DR

III-A(from 25 to 26): - Deduct 3Imarks for a wrong question word.
Each item is allotted 10 marks. - Deduct 2 marks for a grammar mistake provided

the total deduction shouldn't exceed 5 marks.

25. How many stories has she finished so far? - If the student writes a wrong question word with
26. - What does your brother do?

- What 1s your brother’s job?
- What's your brother?

more than one grammar mistake, the answer rates
Zero.

- If the student writes two questions for the same
answer, consider the first.

I11-B.(5 marks for each correction )

A few weeks ago, a woman called to report a | - Each mistake being corrected rates 5 marks.

robbery at her house. It happened at four in the | _ [f the student writes only the correction. his answer
afternoon when she was watching news on TV. The rates 6 marks.

burglar came 1n through the front door and stole her
purse.

I11- C - Composition: (30 marks) - Deduct 1mark for any mistake.
- Deduct 1Imarkonce for the same repeated mistake.

The 30 marks are distributed to 5 fields
as follows:

6 marks: communication

6 marks: spelling and punctuation.

6 marks: grammar.

6 marks: vocabulary

6 marks: task response.

- On average, a paragraph between70-80 words rates(30 marks).

- A paragraph between 60-69 words rates (25 marks).
Each field 1s allotted Smarks.

- A paragraph between 50-59 words rates (20 marks).
Each field is allotted 4marks.

- A paragraph between 40-49 words rates (15 marks).
Each field is allotted 3marks.

- A paragraph between 30-39 words rates (10 marks).
Each field is allotted 2marks.

- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.

- If the student writes more than the required number of words, his
topic 1s accepted.

Correction Scale : 30/10/2021 page 2 Written by: M. al-Hussein and H. Kamel
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I. Reading:

I. A- Read the following text and do the tasks below.

Although it should not be the most important,
remuneration of a career holds value in one’s life:
nobody likes to earn little. A job’s earnings should
match the child’s aspirations and provide a satisfying
comfortable  hte. @ Modern  societies  need
professionals in every field: utility workers, garbage
collectors, farmers, nurses, doctors, engineers,
teachers, professors and many others.

Furthermore, demotivation might have a negative
impact on the child’s mental health when rejecting all
of his/her 1deas. Children may usually get swayed by
peer pressure into choosing a career. Parents can work
together to gather information about a career and then
help the child in deciding whether it is suitable or not.
Most people have dreams of future jobs and there’s no
limit to what this could be, but we can't be absolutely
certain about our career choices. Researchers told us
that through self-reflection and guided activities, we
would find our core values and a clearer path towards
the right career.

# Choose the right answer a. b. c or d: (20marks)

1. The salary of a career has an important ... ........1In
one’s life.
A. rule C. role
B. roll D. rode

2. Children can find a clearer path towards the right
career through ... ... ...
A. self-reflection
B. self-rejection

C. guided activities
D. both A and C

# Read the following sentences and put (T) for

true sentences and (F) for false ones:
(20marks)
3. Demotivation might have a positive impact on the

child's mental health.
4. Children usually get swayed by peer pressure into

choosing a career.

% Choose the meaning / definition of the
following word: (10 marks)

S. remuneration means:
A. influenced
B. seek to attain a goal
C. an amount of money given to someone as a debt
D. money paid for work or services

L. B- Read the following text and do the tasks below.

One of the most destructive moments in our lives is
failure. When we work hard and keep faith with clear
heart and soul to accomplish something and fail, 1t will
surely have negative consequences for our lives. When
we fail, hfe turns upside down. Everything seems to
disappear into thin air. However, most people don’t
realize that failure acts as a stepping-stone towards
success. They don’t know that we can learn more about
our lives when we fail.

Thomas Edison 1s by far one of the most famous
mventors in history. He holds 1,093 patents to his name.
However, when attempting to invent an electric light
bulb, he failed over 10,000 times. When asked by a
reporter how it felt to fail so many times, he merely
stated, “I have not failed 10,000 times. I have not failed
once. I have succeeded in proving that those 10,000
ways will not work. When I have eliminated the ways
that will not work, I will find the way that will work.”™

% Choose the right answer a, b,cord: (20 marks)

6. The bad side of faillure isthat ...........................
A. it turns life upside down and everything seems to
appear into thin air.
B. it acts as a stepping-stone towards success.
C. it turns life upside down and everything seems to
vanish into thin air.
D. it makes us feel happy.
7. How did Edison react to his failures?
A. He eliminated the ways that didn't work and found
the way that would work.

B. He didn’t show any reaction.
C. He felt sad.
D. He stopped working.

# Read the following sentences and put (T) for true
sentences and (F) for false ones: (20marks)

8. We can learn more about our lives when we fail.
9. Thomas Edison is by far one of the most famous

thinkers in history.

#% _Choose the meaning / definition of the following
word: (10 marks)

10. stepping-stone means:
A. put an end to or get nd of
B. reduced to a state of financial ruins
C. means of guaranteeing protection or safety
D. a means of progress or advancement

-1- L dndall P oo
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I1._Use of English 23. Your cousin is travelling to England to study there.
e T p— (140 marks) B‘ut he-dnesn't spea]f Engljsh well. - _
(Give him some advice to improve his English.)

11. Everyone endeavours a great deal to make dreams A. Try to watch English films.

- BURP—— B. OK. I can do that.

A. real C. realize C. Of course! I should’ve thought about that.

B. reality D. really D. I'm not sure. Maybe I could learn English
12. Their companies went ...................... before | 24, Your little brother has got low marks in the exam.

they reached a great economic recovery. (Express Sympathy)

A. bankrupt C. insurance A. Congratulations !

B. stepping-stone D. patent B. You mustn’t let this depress you.
13. The richhave to .................... ... to the poor. C. You really deserve this honour .

A. keep up with C. run into D. Very well done! Keep it up.

B. reach out D. get into

III. Writing:

14. In a few years our company should be able to
evvonn.... the world s most dE\’El’DPEd nations. A- Ask about the underlined words in each

A. join the ranks of C. back the wrong horse sentence: (20 marks)
B. ace a test D. be on a roll
1. We lhﬂ't’hf'EﬂthEI'ngFEﬂthEI‘E. T AT v v smiiaa e s e e e A e
A. think C. are thinking B: We have been talking about that for weeks.
16.Howlong ......................... your computer’ B; I puton my ramncoat because it Was raihing,
A. has you used C. have you been using

B- There are two mistakes in the following

o 55 JorL Balug . £ i you used paragraph. Find them out and correct them,

17. Nada: Is the lawn finished? -
Jane: Yes, George .............vivoiv00 the grass. then write down the paragraph: (10 marks)

A. cuts C. has cut Today, I'm going to see an english film! Sometimes I

B. is cutting D. was cutting watch American films on TV, but I’'m not understanding
18 A few weeks ago, awoman ................ toreport | the words! Do you like films?

a robbery at her house.

A. calls C. is calling

B. called D. has called
19. What ............... when your husband came home?

A. do you do C. have you done

B. are you doing D. were you doing C- Write a paragraph of no less than 80 words
20. The lecture ... ............. by the time they got there. on the following topic: (30 marks)

A. starts C. s St"?ﬂi“g Write about a personal experience in which

B Jid sarted M: 18 sung you failed but then you could achieve your
21. The program that was stopped ................... well target.

since 1945.

A. had been working C. is worked Include the following:

B. has been wnrkehd D. was working « Name the problem
22. The last sound of the -ed in the word "finished" is | Steps you followed to help you

pronounced” * Getting help from others if any

A. /Y C./d/ * Advice to people of your own age

B. /d/ D. /it/

— Y et =
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Model answers

1-
A- (from 1 to 2) Each item is allotted 10 marks.

1. (C) role
2. (D)both A and B

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 3 to 4 : Each item is allotted 10 marks.

3. False / (F)
4. True / (T)

- Only the mentioned answers are accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false is
accepted, e.g. (V/ X) or (se).

- If the student writes the correction of the sentence,
the answer rates full mark.

(question 5): This item is allotted 10 marks.

5. (D) / money paid for work or services

B- (from 6 to 7): Each item 1s allotted 10 marks.

6. (C) /it turns life upside down and everything
seems to vanish into thin air.

7. (A) / He eliminated the ways that didn’t work
and found the way that would work .

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 8 to 9 ): Each _item is allotted 10 marks.

8. True / (T)
9. False / (F)

- Only the mentioned answers are accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false is

accepted, e.g. (V/ %) or (Las 5l ),

- If the student writes the correction of the sentence,

the answer rates full mark.

(question 10): This item is allotted 10 marks.

10 . (D) / a means of progress or advancement

Correction Scale : 23/10/2021

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

page 1

CamsScanner 2 Wgs a>gwaall

CamScanner 2 Wigs d> guwaall



II- (from 11 to 24 ): Each item is allotted 10 marks.

11. B / reality - Only the mentioned answers are accepted.
12. A/ bankrupt - Both the letter corresponding to the correct answer

13. B. /reach out and the correct choice are accepted, or one of
14. A/ join the ranks of them.

15. A/ think - If the student writes two letters or two choices for

16. C/ have you been using the same number, consider the first.
17. C/ has cut

18. B/called

19. D/ were you doing

20. B/ had started

21. A/ had been working

22. A/ /t/

23 . A/ Try to watch English films.

24. B/ You mustn’t let this depress you.

I1I-A (from 25 to 26): - Deduct 3marks for a wrong question word.

- Deduct 2 marks for a grammar mistake provided
the total deduction shouldn't exceed 5 marks.

25. How long have you been talking about that? - If the student writes a wrong question word with

26. Why did you put on your raincoat? more than one grammar mistake, the answer rates
Zero.

- If the student writes two questions for the same

Each item 1s allotted 10 marks.

answer. consider the first.

I11-B. (5 marks for each correction )

, . _ _ - Each mistake being corrected rates 5 marks.
Today, I'm going to see an English film!

Sometimes I watch American films on TV, but I
don't understand the words! Do you like Films?

- If the student writes only the correction. his answer
rates 6 marks.

HI- C - Composition: (30 marks) - Deduct Imark for any mistake.

- Deduct 1mark once for the same repeated mistake.
The 30 marks are distributed to 5 fields

as follows:

- On average, a paragraph between70-80 words rates(30 marks).

- A paragraph between 60-69 words rates (25 marks).
Each field is allotted 5 marks.

- A paragraph between 50-59 words rates (20 marks).
Each field is allotted 4 marks.

- A paragraph between 40-49 words rates (15 marks).
Each field 1s allotted 3 marks.

- A paragraph between 30-39 words rates (10 marks).
Each field 1s allotted 2 marks.

- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.

- If the student writes more than the required number of words, his
topic 1s accepted.

6 marks: communication

6 marks: spelling and punctuation.
6 marks: grammar.

6 marks: vocabulary

6 marks: task response.

Correction Scale : 23/10/2021 page 2 Written by: M. al-Hussein and H. Kamel
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I-Read the following text then do the tasks below:

When large numbers of people move from therr
homes in country areas to find better-paid jobs 1n
towns and cities, the villages and farms they once lived
in are often left empty. No one wants to buy homes
there because they cannot make money out of them.
This phenomenon, which 1s called rural depopulation,
can lead to overcrowding in cities as well as to fewer
people in country areas.

On example of this phenomenon 1s the Garrigus
area of Spain, about one hour’s drive from Barcelona.
The area has a Mediterranean climate. but because 1t is
high and not close to the sea, winter temperatures are
quite low. The area has an annual rainfall level of 482
mm which falls in only 47 days of the year, during the
autumn and spring. Historically, this was a successful
agricultural area; on the higher ground, the farmers
grew almonds and vines, while in the river valleys,
wheat, corn, beans and sunflowers were traditional
crops. The area was particularly well-known for its
high-quality olive o1l which was grown mainly for
export. But as farming became less profitable. and
unemployment grew, the population began to move to
the cities to find work This trend started in 1860 and
has continued to this day. Now some villages consist
mainly of elderly people. The area 1s suffering from
the effects of depopulation, such as poor public
services and deserted farms.

#Answer the following questions: (10 marks)

1.Why are winter temperatures quite low?
2. Mention two characteristics of Garrigues.

# Find words in the text which mean the following:

(10 marks)
3. empty because people have left
# Rewrite  this  sentence about the text to
correct the information: (10 marks)

4. In Garrigues, 1t usually rains only 1n winter

II-Read the following text then do the tasks below:

The Nobel
women from all corners of the globe for outstanding

prize has been honoring men and

achievements in Physics, Chemistry, Physiology or
Medicine, Literature. Peace and Economics. In his
last will and testament, Alfred Nobel specifically
designated the institutions responsible for the prizes
he wished to be established: The Royal Swedish
Academy of Sciences for the Nobel Prize in Physics
and Chemistry, the Karolinska Institute for the Nobel
Prize in Physiology or Medicine, and a committee of
five persons to be elected by the Norwegian
Parliament (Storting ) for Nobel Prize in peace.

In 1968, the Sveriges Riksbank established the
Sveriges Risksbank Prize in Economics in memory of
Alfred Nobel. The Royal Swedish Academy of
Sciences was given the task of selecting the
1969
Presentation ceremonies are held on December 10,
of Nobel's death The Nobel
foundation in Stockholm supervises the awarding of

Economics Prize Laureates starting 1n

the anniversary

the prizes. The peace prize 1s awarded in Oslo,
Norway. Each Nobel prize winner receives a gold
medal, a diploma and prize money.

#Choose the correct answer a, b or ¢: (10 marks)

S. The Royal Swedish Academy of Sciences 1s
responsible for awarding the Nobel Prize in

a. two subjects b. three subjects c¢. five subjects

# Match the underlined words from the text to the

definitions below: (10 marks)
6. exceptional; excellent
#Complete  the following sentences  with
information from the text: (10 marks)
7.The Nobel peace prize 1s awarded .....ccceveeenneee .
Ll dmdall Ll,.-, -
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I1I- Complete the following paragraph by filling in

the gaps: (20 Marks)
8 Family...... ... ... very important to everyone.

When our parents get older, my sister and [ will
9 look ............. them. We know that our children

will do the same as we get older.

IV- Fill in the spaces with words from the list.
(20 Marks)

Use each word once only:

telegraph, across, set

10. The British government helped Marconi to ... ...
up his own wireless stations. He wanted to send
11. his messages from ............ the Atlantic ocean.

Later he did that successfully

V- Complete the following dialogue by writing

suitable questions or answers. Write at least

three words for each question: (30 Marks)
Nada: Damascus 1s located in the south of Syria.

Nada: There are about six million people 1n
Damascus.

14. Ali: Why do tourists like to come to Damascus?
Nada: ... .. i e e

VI- Rewrite the following sentences as required
(30 Marks)

in brackets:

15. An architect designed Brasilia in the twentieth
century.

(make passive voice)

16. Can you take me tomorrow ?
(Report: I asked him ... ...... ... )

VII-_Complete the following sentence using a
(10 Marks)

clause:

17. In comparison withcity life, ......................

VIII- Choose the correct words in brackets:
(30 Marks)

18. People come from (far and wide, hustle and
bustle) to see Damascus International Fair.

19. The damage of the storm is a lasting (remind,
reminder) of the power of nature.

20. Ibrahim promised he would (do, make) up for the
time he had lost by being late.

IX- Correct the verbs in brackets: (20 Marks)

21.While she (study) ................., her phone rang
22. My brother (come) ..................... home before
[ call him.

X-Translation:

- Translate the following sentence into Arabic:
(15 Marks)

23. Naguib Mahfouz was an experimental writer and

1s credited with modernizing Arabic literature.

- Translate the following sentence into English:
(15 Marks)

24 59 ekl e oLVl Laling S patll 4aS iz -

XI -Composition: (50 Marks)

Write a composition of no less than 80 words on

the following topic:

"A magazine article giving advice to people of

your own age about how to do well at school."

-l el -
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Model answers Remarks

I- (from 1 to 2) Each item i1s allotted 10 marks.

. . - Anv logical answer related to the text 1s accepted.
1. Because Garrigues 1s high and not close to the sea. )98 P

_ ‘ . - Overlook 1mrrelevant information unless it exceeds
2 It has a Mediterranean climate. it has an annual

nt = n . W .
rainfall level of around 482 mm . ........ . (or| °"€S€ tence . If so, the answer rates zero

. : - Deduct Imark for any kind of mistake provided
any logical answer relates to the question ) ”

that the total deduction shouldn’t exceed 3 marks.

(question 3): This item is allotted 10 marks. - Wrong answers rate zero.
- If the student writes two answers for the same

3. deserted item, consider the first.

(question 4 ): This item is allotted 10 _marks. - Any logical answer related to the text 1s accepted.

. : - : - Deduct 1mark for any kind of mistake provided
4. In Garrigues, 1t usually rains in autumn and spring o ﬁ
that the total deduction shouldn’t exceed 3 marks.

- If the student writes onlv the correction. his answer

rates Imarks.

(question 5 ): This item is allotted 10 marks. - Either the letter or the complete answer is accepted
or both.
- Wrong answers rate zero.

S. (B)/ three subjects . ‘
- If the student writes two answers for the same

item. consider the first.

(question 6): This item is allotted 10 marks. - Wrong answers rate zero.
- If the student writes more than one answer for the

6. outstanding same item. his answer rates zero even if one of
them 1is correct.

- Any logical and correct completion 1s accepted.

(question 7 ): This item i1s allotted 10 marks.
- Deduct 2 marks for any kind of mistake

7. The Nobel peace prize 1s awarded in Oslo, |- Any addition or omission that doesn’t make
Norway. distortion 1s overlooked, or else it rates zero.

Correction scale / 13, 3. 2022 Page 1
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I11- (from 8 to 9): Each item is allotted 10 marks.

IV- (from 10 to 11): Each item 1s allotted 10 marks.

10. set
11. across

V- (from 12 to 14): Each item is allotted 10 marks.

12.Where 1s Damascus located?

13. How many people are there in Damascus ?

14. They come to Damascus to visit its monuments .
( Any logical answer 1s accepted )

VI- (from 15 to 16): Each item is allotted 10 marks.

15. Brasilia was designed by an architect in the
twentieth century.

16. I asked him 1f he could take me the day after / the
following day / the next day .

- If the student writes two answers for the same
item, consider the first.
- Wrong answers rate zero.

- Only the mentioned answers are accepted.

- If the student writes two answers 1n one space, his
answer rates zero.

- Repeating the same answer more than once rates
zero, even 1f one of them 1s correct.

- Answers 1n the form of numbers rate zero.

- Deduct 3marks for a wrong question word.

- Deduct 2 marks for a grammar mistake provided
the total deduction shouldn't exceed 4 marks

- If the student writes a wrong question word with
more than one grammar mistake, the answer
rates zero.

- If the student writes two questions for the same
answer, consider the first.

- Any logical question or answer related to the
dialogue 1s accepted.

- Deduct 2 marks for each grammar mistake
provided that the total deduction shouldn't exceed
4 marks if the sentence still makes sense.

- Deduct 2 marks for omitting ( I asked him )

This 1tem is allotted 10 marks.

VII- (17):

17. (present simple )

- The completion that doesn’t make sense rates zero, even if it 1s
grammatically correct

- If the completion doesn't have a subject or a verb, the answer
rates zero.

- Deduct 2 marks for any grammar mistake.

- Deduct 1 mark for any spelling mistake.

Correction scale / 13. 3. 2022 Page 2

CamsScanner 2 Wigd d> gwaall

CamScanner 2 Wigs d> guwaall



VIII- (from 18 to 20)

18. far and wide
19. reminder
20. make

IX- (from 21 to 22)

21. was studying
22. comes / will come

X- Translation:

| i 3} {lups GIS Bgioe o 08} -23
{e oW Suou B fadll dy [

Each item 1s allotted 10 marks.

- Two answers for the same item rates zero.

- Each item is allotted 10 marks.

Naguib Mahfouz was an experimental
credited  with

modernizing Arabic literature.

writer and 1s

24 The amount of sleep (that /which )
human beings need varies /differs/is
different from person to another
/person ( individual to individual )

XI- Composition: (50 marks)

The 50 marks are distributed to 5 fields

as follows:

communication

spelling and punctuation.
grammar.

vocabulary

task response.

10 marks:
10 marks:
10 marks:
10 marks:
10 marks:

- Only the mentioned answers are accepted.

- Complete (verb forms) are required, otherwise the answer rates
Zero.

- Wrong answers rate zero.

- Sentence 23 is allotted 15 marks. It 1s divided into two units.
8 marks for the first unit and 7 marks for the second one.

- Sentence 24 1s allotted 15 marks. It 1s divided into two units.

8 marks for the first unit and 7 marks for the second one.

- Each unit 1s treated separately.

- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake,
provided that the total deduction for the whole sentence
shouldn't exceed 3 marks if the sentence still makes sense.

- Any logical translation 1s accepted.

- Deduct Imark for any mistake.
- Deduct Imarkonce for the same repeated mistake

- On average, a paragraph between70-80 words rates(50 marks).

- A paragraph between 60-69 words rates (45 marks).

Each field 1s allotted 9 marks.

- A paragraph between 50-59 words rates (40 marks).

Each field 1s allotted 8 marks.

- A paragraph between 40-49 words rates (35 marks).

Each field 1s allotted 8 marks.

- A paragraph between 30-39 words rates (25 marks).

Each field is allotted 5 marks.

- A paragraph between 20-29 words rates (20 marks).

Each field 1s allotted 4 marks.

- If the student writes less than 20 words, give § marks for each
correct relevant sentence.

- If the student writes more than the required number of words,
his topic 1s accepted.

Correction scale / 13. 3. 2022 Page 2 Written by: M.al-Hussein and H. Kamel
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I- Reading
A- Read the following text and do the tasks below.

Citizenship 1s not only the state of being vested with
the rights and duties of a citizen, but it can also be
defined as the character of an individual who 1s viewed
as a member of a particular society. The concept of
citizenship first arose 1n towns and city-states of ancient
Greece, disappeared in Europe during the middle ages
and crystallized in the 18" century. The concept of
citizenship has never been fixed or static, but constantly
changes within each society.

Citizenship refers to many aspects of society such as
family, military service, individual’s freedom, 1deas of
right and wrong, paying taxes and patterns for how a
person should behave in society.

The Syrian government protects the rights of each
individual regardless of their background or culture. All
Syrian citizens have responsibilities that are voluntary
or obligatory. Every Syrian citizen must obey state
laws, and pay the penalties when a law 1s broken. All
citizens must pay taxes in one form or another.

[t 1s the responsibility of citizens to pass along the
importance of citizenship to future generations by
teaching their children how to obey the law. The
nationality law doesn’t give Syrians the right to
unilaterally abandon their Syrian nationality. Syrians
had a vital role in developing human civilization.

(20 marks)

# Choose the richt answer a, b, ¢ or d:

1. The two kinds of responsibilities mentioned in the
ekt fire vOLuntaiy g ... o v s vvonss swasan &
A. compulsory C. specified only
B. optional D. preparatory
2. The concept of citizenshipis ... ... ...
A. constant C. changeable
B. fixed D. still

# Read the following sentence and put (T) if it is
true and (F) if it is false: (10 marks)

3. In Syrnia, the rights of each individual are preserved

in all societies.

due to background or culture.

# Choose the meaning / definition of the following
word: (10 marks)

4. The word "vested" means:
A. leaving something forever
B. done willingly . not because you are forced
C. given the right to do or own something
D. done by one member without the agreement of others

B- Read the following text and do the tasks below.

The human body 1s a wonderful machine which
performs several functions without rest from birth
Our body continues to work, without stopping for a
second. The main organs of the human body are
lungs, heart, kidney, liver and brain. These organs
work together and are controlled by the brain. Each
system such as digestive system, excretory system,
circulatory system. endocrine system, nervous
system or muscular system carries out a major
function. All of them are controlled by the brain
which gives us intelligence to use our physical and
mental abilities. An average person is estimated to
contain 30 trillion human cells, according to recent
research. These cells include neurons (nerve cells)
and glands (specialized cells). The hormones and
enzymes are produced and secreted by these glands
that perform different functions. The human body 1s
covered by the skin, which 1s a flexible covering that
protects the body and keeps water and harmful germs
out. The body’s strong internal framework (skeleton)
1s made of 206 bones, connected at the joint, such as
in legs. These joints help us to move. The backbone
supports the head and limbs and protects the spinal
cord. Between the skeleton and the skin, there are
about 500 muscles.

# Choose the right answer a. b, ¢ or d: (20 marks)

5. Hormones and enzymes are produced in .......... .
A. the circulatory system C. the glands
B. the nerve cells D. the brain

6. The spinal cord as well as the limbs are protected
A. the endocrine system
B. the skeleton

C. the backbone
D. the skin

# Read the following sentence and put (T) if it is
true and (F) if it is false: (10 marks)

7. The human body is covered by a flexible covering

that protects the body from harmful germs.

# Choose the meaning / definition of the
following word: (10 marks)

8 The word "endocrine" means:

A. relating to the system in your body that

produces hormones

B. making something valid by confirming it

C. an acute inflammation of the lungs

D. existing before another one

dclil] =i al ‘Jt‘lﬁ
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I1. Use of English

#% Choose the right answer: (170 marks)
9. My brotherisused to ... ............... late at night.
A. work C. working
B. works D. being work

10. Anna 1s not pleased .............. my exam results.
A. In C.to

B. about D. on
11.Neitther Tom nor John ... ... ... ... to their friends.
A. he C. lies
B. have lied D. are lying
12. One of the most important income for local
COUNCHS 18 ... oovviscovc: TAXES.
A. raising C. losing
B. giving D. catching

13. It took us a long time to arrive. If only we ... ...
the train instead.
A. would catch C. catch
B. had caught D. caught
14 You might make less money from that job, but
if 1t really attracts you, youshould ................
A. follow your heart  C. speak your mind
B. cost an arm and a leg D. jump out of your skin
15. The poor bird .................... and all its efforts
to escape from the trap were in vain.
C. had captured
D. were captured

A. captured

B. was captured
16. They ..............
storm suddenly broke.

...... for three hours when the
A. have been running  C. had been running
B. ran D. have run
17 Aslongas he .................... in touch with his

family, he will be happy.

A. would keep C. keeps
B. will keep D. would keeping
18. My mother ... .... her evesight ... ... every month.
A. 1s / checked C. has / check
B. has /checking D. has /checked

19. Would you like some tea?
A. What's the matter?  C. No. thank you
B. You deserve 1t. D. I'm sorry about 1t.

20). Which 1s the silent letter in the word "mnemonic"?
A./m/ C./n/

B./o/ D./c/

21. I apologized to the woman ............... you told
me about.
A. whom C. whose
B. where D. which

22. In Syria, the rights of each individual ...............
regardless of background or culture.
A. are preserved C. are preserving

B. preserve D. have preserved

23. Jack 1s careless ... .................. his money.
A at C. with
B. for D. against

24. Unless she had fastened the seat belt, she ... ... ...
injured.
A. would have C. will have been
B. would have been D. would be

25 One day people ..................... on Mars.
A . are going to live C. live

B. will live D. are living
II1. Writing:
A- Ask about the underlined words in each sentence:
(10 marks)
B: The brain weighs more than three pounds.

B: The nervous system consists of cells and nerves.

B- Choose the letter of the underlined word or
group of words that is not correct: (10 marks)

28. How long will the live fish lives without food ?

A B C D
29 Either the teacher nor the students have planned to come.
A B E D

C- Write a paragraph of no less than 80 words on
the following topic: (30 marks)

"What can help yvou prepare for a career as a nurse?"

The following prompts can help:

» qualifications <« skills  «tasks e« challenges

* 21 ‘vhrt ‘:“i'-‘sll *
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L
A- (from 1 to 2)Each item is allotted 10 marks.

1. A. compulsory
2. C. changeable

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.
-If the student writes two letters or two choices for the

same number, consider the first.

(3 : This item is allotted 10 marks.

3. False (F)

- Only the mentioned answer 1s accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s
accepted, e.g. (V/ X)or (wye).

- If the student writes the correction of the sentence, the
answer rates full mark.

4: This i1tem is allotted 10 marks.

4. C. given the right to do or own something

B- (from 5 to 6): Each item 1s allotted 10 marks.

5. C. the glands
6. C. the backbone

- Only the mentioned answer is accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(7 ): This item is allotted 10 marks.

T. True( 1)

- Only the mentioned answer 1s accepted.
- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false is
accepted, e.g. (V/ %) or (Las 5l za).
- If the student writes the correction of the sentence,

the answer rates full mark.

(8): This item 1s allotted 10 marks.

8. A. relating to the system n your body that
produces hormones

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer
and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 12/3/2022 page 1
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II- (from 9 to 25 ): Each item is allotted 10 marks.

2
10.
11.
12.
13.
14.
IS.

working - Only the mentioned answers are accepted.

with - Both the letter corresponding to the correct answer

IIE.S. and the correct choice are accepted, or one of
raising

had caught give them.

follow your heart - If the student writes two letters or two choices for
was captured the same number, consider the first.

16. C. had been running
17. C. keeps

18 . D. has / checked
19. C. No . thank you .
20.A. /m/

21. A. whom

22. A are preserved

23. C. with

24. B. would have been
25. B. will live

COEPE>OEO

© WO > > >

III-A(from 26 to 27): Each item is allotted 5 |- Deduct 1 mark for a wrong question word.
- Deduct 1 marks for a grammar mistake provided

the total deduction shouldn't exceed 2 marks.

26. How many pounds / How much does the brain | - If the student writes a wrong question word with

weigh ? / What 1s the weight of the brain? more than one grammar mistake, the answer rates
27. What does the nervous system consist of ? Zero.

marks.

- If the student writes two questions for the same
answer, consider the first.

IHI-B.(from 28 to 29) Each item is allotted 5 ,
- Only the mentioned answers are accepted.

marks ) :
- Both the letter corresponding to the correct answer

28. C and the correct choice are accepted, or one of
29.B

them.

I11- C - Composition: (30 marks) - Deduct 1mark for any mistake
- Deduct Imarkonce for the same repeated mistake
The 30 marks are distributed to 5 fields | _ average, a paragraph between70-80 words rates(30 marks).
as follows: - - A paragraph between 60-69 words rates (25 marks).
6 marks: communication Each field is allotted Smarks
6 marks: spelling and punctuation. - A paragraph between 50-59 words rates (20 marks).
6 marks: grammar. Each field is allotted 4marks.
6 marks: vocabulary - A paragraph between 40-49 words rates (15 marks).
6 marks: task response. Each field 1s allotted 3marks
- A paragraph between 30-39 words rates (10 marks).
Each field 1s allotted 2marks.
- If the student writes less than 30 words, give 2 marks for each
correct relevant sentence.
- If the student writes more than the required number of words, his
topic is accepted.

Correction scale / 13. 3. 2022 Page 2 Written by: M.al-Hussein and H. Kamel
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I. Reading:

A- Read the following text and do the tasks below.

The first steam engine was built in 1698 by the mechanical engineer Thomas Savery. The development of
this device led to the emergence of the Industrial Revolution in the coming years, which allowed the beginning
of the mass production of engines of various functions.

The 1inventions of the Scottish engineer James Watt gave rise to the modern mechanical engineering, which
opened the door wide for the development of specialised machinery and their maintenance tools during the
Industrial Revolution and led to the rapid growth of mechanical engineering in its native Britain and abroad.

Chemical engineering, like mechanical engineering, developed in the nineteenth century during the
Industrial Revolution. The work of James Maxwell and Heinrich Hertz in the late nineteenth century gave birth
to the field of electronics and electronic engineering.

Today, aeronautical engineering deals with aircraft design; this field of engineering has been growing day
after day to allow humans make their dreams come true to invade the outer space by designing better spaceship.
Finally, with the advent of computer technology in the 1990's, the first search engine was built by the computer
engineer Alan Emtage.

The brilliant minds of engineers are still creating whatever it takes to elevate our world to make 1t a better
place to live

# Choose the right answer a, b, c or d: (30 marks)
1. .......................... Invention was the foundation stone of the Industrial Revolution.

A. Imhotep's B. Thomas Savery's C. Alan Emtage's D. James Watt's
2. ......................... helped to develop specialised machinery and their maintenance tools.

A. Imhotep B. Thomas Savery C. Alan Emtage D. James Watt

3. Which sentence isn’t given in the text ?
A. Aeronautical engineering deals with aircraft design.
B. Chemical engineering developed in the nineteenth century.
C. The inventions of the Scottish engineer James Watt led to the rapid growth of mechanical engineering.
D. Eli Whitney patented the cotton gin in 1793.

# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

4. The work of James Maxwell and Heinrich Hertz led to the emergence of electronic engineering.

5. Aeronautical engineering is related to the design of electronic machines. [

# Choose the meaning / definition of the following word: (10 marks)

6. elevate means:

A. a machine that separates the seeds of a cotton plant from the cotton
B. the science of designing, making, and flying planes

C. to raise something to a higher position
D. a simple machine used to lift something heavy

ale ol Amdall § s

CamsScanner = Wigd 4> gwadll

CamScanner - Ligd d> guwaall



Ault) andall -
B- Read the following text and do the tasks below.

The Unmited Nations Children's Fund (UNICEF), originally known as the United Nations International
Children’'s Emergency Fund, 1s responsible for providing humanitarian and developmental aid to children
worldwide and it has won the Nobel Prize, the first to be awarded to an organisation. UNICEF is supported
entirely by the voluntary contributions of governments, non-governmental organisations, foundations,
corporations and private individuals and receives no funding from the assessed dues of the United Nations.
Most of the fundraising is done by UNICEF's 36 national committees, the voluntary support of millions of
people around the world, partners in government, civil society and the private sector.

UNICEF was created in 1946 and began with a definite mission of providing emergency food and healthcare
to children 1n the countries that had been destroyed by World War II. In 1953, Its original name was changed to
the United Nation’s Children Fund to reflect its broader mission, but 1t retained the original acronym, after
being officially adopted as a permanent branch of the UN in 1954.

The agency 1s among the most widespread and recognisable social welfare organisations in the world.

Though 1ts headquarters are in New York City, it operates 1n over 190 countries, focusing on the welfare of
children 1n at-risk areas.

% Choose the right answer a. b, c or d: (30 marks)

7. The acronym UNICEEF stands for .. ,
A. The United Nations High CDH]I’I]JblenEl fnr refugees
B. The United Nations Children's Fund.

C. The United Nations Educational, Scientific and cultural Organization.
D. The United Nations Relief and Works Agency.

8. UNICEF was officially adopted as a permanent branch of the UN . R SR—
A.in 1954 B. in 1945 C.in 1953 D in 1952

9. UNICEF changed MSNAME .......covimv s s sovmssaiiig
A. to become easy to read. C. to reflect its broader mission.
B. to become easy to write. D. to reflect its limited mission.
# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

10. UNICEF's headquarters are in over 190 countries.

11. UNICEF does not receive funding from the assessed dues of the United Nations.

#% Choose the meaning / definition of the following word: (10 marks)
12. corporation means:

A. existing or accepted in a particular place or at a particular time

B. to select and take or approve

C. an organisation or group of organisations that work together for a particular purpose

D. the activity of collecting money for a specific purpose, especially in order to help people

I1. Use of English:
% Choose the right answer: (130 marks)

13. Civil nights guarantee equal ........................ . opportunities.
A. socialize B. society C. social D. sociability

14. Their companies went ... ...................... before they reached a great economic recovery.
A. bankrupt B. insurance C. stepping-stone D. patent
15. A/An ........................ 1s a specialist for babies and children.
A. cardiologist B. naturopath C. pediatrician D. ophthalmologist
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16.Ifyou ....................... any trouble, just give me a call
A. keep up with B. run into C. reach out D. fitin
17. My grandfather 1s . AT . tomorrow, so we'll need to be at the hospital to support him.
A. on the mend B joining the rank::. of  C. backing the wrong horse  D. going under the knife
18. Weneedto ................... . the roof before it falls down.
A. fit in with B bhﬂrﬁ up C. drive mto D. ace a test
19. The insurance company refused to pay the money because they said that the forest fire was . e
A. acing the test B. an act of God C. going under the knife D. brealung the law
20. I slipped as I stepped ..................... the platform.
A.to B. about C. onto D. in
21. The man is enjoying his ttme with his ... ...... ... ...... ... on the beach under the ...
A. sun / son B. son / sun C. son/ son D. sun / sun
ais T8 18 the NO0BE o ... I grew up.
A. who B whlch C. where D. when
23. The manager ..................cve......... daughter is my friend spoke to us last night.
A. which B. whose C. where D. who
24. When she came 1nto the room, the burglar ... ...........................
A. leaves B. is leaving C. had already left D. has left
25. On Saturday afternoons, I .................... tennis with my friends, or I go to the cinema.
A. play B. played C. has played D. am playing
26. Scientists announced the launch of the new drug last week. They .......................... it for five years.
A. develop B. has developed C. has been developing D. had been developing
27. Atthe moment, I .................... breakfast in the kitchen of our flat.
A. eat B. ate C. was eating D. am eating
28. Theseclothes ..................... . for daily use, so you can wear them wherever you want.
A. design B deugned C. are design D. are designed
29. The exammnation ... ... ............. to be the most difficult one.
A. is claim B. is claiming C. is claimed D. are claimed
30. Your car is a death trap. It .. civvies e s 10 THE SCIAD Years d4go:
A. should send B. shnuld be sent C. should have been sent  D. should sent
31.Ahmad ........................... the meat cut into pieces yesterday.
A. want to have B. wants to have C. wanted to have D. has wanted to have
32. My father .. eievro... thetrees .................... recently.
A. has had fplanted B. had has / planted C. has have / planted D. had had / planted
33.'ll text you beforewe ............................
A. will set off B. would set off C. had set off D. set off
ML i iinminanaiiries: STRGEHNE IOMOEITDW.
A. am holding B. am going to hold C. am about to hold D. both A and B
35. The last sound of the -ed in the word "helped" is pronounced”
A. It/ B./d/ C. id/ D. /it/
306 Thi5 158 CHEAD ...\ oo s cunsiisnins perinienis
A. IMport B. imPORT C. exPORT D. inCREASE
37. Your skiing has improved tremendously. You're really a future champion. (Express modesty)
A. [ am sorry about what happened. C. This 1sn’t an excuse.
B. I don’t deserve any of the credit. D. I'd never hurt your feelings
38. Your school team has just won a football match. (Express congratulations)
A. Very well done! Keep it up. C. I am sure this won’t happen again
B. I am sorry about what happened D. You will do much better next time
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II1. Writing:

A- Ask about the underlined words in each sentence: (12 marks)

B: The dam was completed in 1965.

B: X-ray Imaging was used to help doctors.
B: Yesterday, I ran into an old friend.

B: The weather was hot and humid in Aleppo.

B- Rearrange the following parts of a paragraph to form an organized one. (8 marks)

that adheres to the standards set by the government and the state regarding students and academic staff.

Education is the right for parents to choose freely appropriate schools for their children and enroll them in,

In addition, 1t 1s the right to freely establish any educational institution

regardless of their beliefs and religions.

C- Write a paragraph of no less than 80 words on the following topic: (30 marks)

" A description of a recent engineering project."

- oY) el -
Our Best Wishes
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I. Reading:

Model answers Remarks

I-

. . - Only the mentioned answers are accepted.
A- (from 1 to 3) Each item 1s allotted 10 marks.

- Both the letter corresponding to the correct answer and
1. B. Thomas Savery's the correct choice are accepted, or one of them.

2. D. James Watt - If the student writes two letters or two choices for the
3. D. Eli Whitney patented the cotton gin in 1793. same number, consider the first.

(from 4 to 5 : Each 1tem 1s allotted 10 marks. » Onjy the mentioned answers are accepted_

- I the student writes both "true" and "false" for the
same number, consider the first.

4. T/ True - Any sign or word that denotes true or false is accepted,

5. F / False e.g. {1.,;' / %) or (Ui a).

- If the student writes the correction of the sentence, the
answer rates full mark.

{gllEStiﬂll 6!: This item is allotted 10 marks. = Oniy the mentioned answer is accepled,

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

6. C. to raise something to a higher position

B-_ (from 7 to 9): Each item is allotted 10 marks. | - Only the mentioned answers are accepted.

7 B. The United Nations Children's Fund. - Both the letter corresponding to the correct answer and

8 A.in 1954 the correct choice are accepted, or one of them.
- If the student writes two letters or two choices for the
same number, consider the first.

9. C. to reflect 1ts broader mission.

(from 10 to 11 ): Each item is allotted 10 marks. | - Only the mentioned answers are accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

10. F / False - Any sign or word that denotes true or false is accepted,

11. T / True e.g. ('\I'I / }{) or ('U;n.-.\._;i E:.....n}

- If the student writes the correction of the sentence, the
answer rates full mark.

(question 12): This item is allotted 10 marks. - Only the mentioned answer 18 accepted.
- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.
12. C. an organisation or group of organisations | - If the student writes two letters or two choices for the
that work together for a particular purpose same number, consider the first.
- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 11/1/2022 page 1
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I1. Use of English

II- (from 13 to 38 ): Each item is allotted S marks.

- Only the mentioned answers are accepted.
- Both the letter corresponding to the correct answer and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the same number, consider the first.

13. C. social 26.
14. A. bankrupt 217.
15. C. pediatrician 28.
16. B. run into 29.
17. D. going under the knife 30.
18. B. shore up 31.
19. B. an act of God 32.
20. C. onto 33.
21. B. son / sun 34.
22. C. where 35.
23. B. whose 36. A. IMport

24, C. had already left 37. B. 1 don't deserve any of the credit.

. A. play . A. Very well done! Keep it up.

. had been developing

. am eating

. are designed

. 18 claimed

. should have been sent
wanted to have

. has had / planted

. set off

both A and B

At
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III. Writing:

A- A(from 39 to 42): Each item 1s allotted 3 marks.

- If the student writes a wrong question word his answer rates zero.
- Deduct 1 marks for a grammar mistake provided the total deduction shouldn't exceed 2 marks.

- If the student writes two questions for the same answer, consider the first.
- Overlook copying mistakes.

39. When was the dam completed?

What year was the dam completed in?
In what year was the dam completed?

. Why was X-ray Imaging used?
What was X-ray Imaging used for?

. Who did you run into yesterday?
Whom did you run into yesterday?

. What / How was the weather like in Aleppo?

B. This question is allotted 8 marks.

- Deduct 2 marks for each sentence put in the wrong order.
- If the student writes two sentences in the right order, his answer rates 4 marks.

1. [J Education is the right for parents to choose freely appropriate schools for their children and enroll them in,
2, [ regardless of their beliefs and religions.
3. O In addition, it is the right to freely establish any educational institution

4. U] that adheres to the standards set by the government and the state regarding students and academic staff.

Correction Scale : 11/1/2022 page 2
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C - Composition: (30 marks)
The 30 marks are distributed to 5 fields as follows:

6 marks: communication

6 marks: spelling and punctuation.
6 marks: grammar.

6 marks: vocabulary

6 marks: task response.

Remarks:

- Deduct Imark for any mistake.
- Deduct Imarkonce for the same repeated mistake.

- On average, a paragraph between70-80 words rates(30 marks).
- A paragraph between 60-69 words rates (25 marks).
Each field 1s allotted Smarks.
- A paragraph between 50-39 words rates (20 marks).
Each field 1s allotted 4marks.
- A paragraph between 40-49 words rates (15 marks).
Each field is allotted 3marks.
- A paragraph between 30-39 words rates (10 marks).
Each field 1s allotted 2Zmarks.
- If the student writes less than 30 words, give 2 marks for each correct relevant sentence.
- If the student writes more than the required number of words, his topic 1s accepted.

Correction Scale : 1/1/2022 page 3
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I. Reading:

A- Read the following text and do the tasks below.

The nght to education 1s one of the basic universal rights of the human being. It 1s one of the goals that the
education schedule supports and 1s expected for the year 2030 1n order to achieve sustainable development
aimed by the United Nations. It is a force that enables individuals to get rid of poverty and achieve individual
and social well-being. It 1s something mandatory for the state, guaranteed by its own law, for all individuals
without any form of discrimination. It 1s the rnight to education 1n all parts of the world that includes a number of
freedoms and nights that individuals are entitled to. It 1s the right to have primary education for all, free of
charge, the right to have secondary education available to everyone without exception, and 1n all its fields,
whether technical, vocational, or training. Above all, i1t guarantees equal access to higher education without any
distinction or discrimination, and ensures quality and meaningful education, whether in public or private
schools and universities.

Education 1s the right for parents to choose freely appropriate schools for their children and enroll them in,
regardless of their beliefs and religions. In addition, 1t 1s the right to freely establish any educational institution
that adheres to the standards set by the government and the state regarding students and academic staff.
Education 1s of great importance because of its great role in building society, which i1s made up of all segments
of teachers, leaders, politicians and others. Through education, people get to know other cultures and worlds,
and it helps to enhance understanding and communication between them, and open the horizon to knowledge

of the great and their philosophies.

# Choose the right answer a, b, c or d: (30 marks)
1. Thenghtto ............................... 1s expected to be achieved by the year 2030.
A. a fair trial B. vote C. education D. government services
2. Education ......................... individuals to get rid of poverty and achieve individual and social well-being.
A. prevents B. allows C. stops D. disables

3. Education is the right for parents to choose freely appropriate schools for their children and enroll them in,
s s v OLHHEI beliefs atid religions,
A. regarding B. in relation to C. in reference to D. regardless

# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

4. Education schedule ensures meaningful education in public as well as private schools.

5. The right to education is compulsory for the state, guaranteed for certain individuals .

# Choose the meaning / definition of the following word: (10 marks)

6. sustainable means:
A. professional
B. a part of something
C. profitable
D. can continue for a long time
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B- Read the following text and do the tasks below.

Modern medicine started to emerge 1n the late 18th century and therefore, there were many improvements on
medical tools and machines, especially after the Industrial Revolution. In the 1800s, physicians learned that
illnesses were caused by germs and hospitals began to focus on keeping clean to keep germs away. As a result,
nursing came to be thought of as a respectable job. The 20th century was characterized by new biological
treatments such as antibiotics in addition to advancement 1n chemistry, genetics and radiography.

Arabic medicine has made a major contribution to the development of pharmacy. It is logical for doctors to
discover new drugs while looking for ways to treat their patients. They wrote about them 1n booklets about the
history of the disease called “al-Mujarrabat”™ Subsequently, good and lesser known drugs were extracted from
it. Physicians have tried to use simple medicines to determine the exact effect of the entered component into the
disease. Still, some doctors have prescribed and combined the medications that they themselves formulated.

Today healthcare 1sn't just about doctors; nurses, physical therapists and technicians are all part of a large
health care system that helps to keep people healthy. Modern medicine i1s characterized by surgeries, the use ot
radiation, microscopy, research and analysis in the detection of disease or ailment by using modern
technological tools. Due to the rapid advance of technology, it 1s certain that medicine will continue to develop.

# Choose the right answer a. b, c or d: (20 marks)

7. Modern medicine started to appear inthe ........................... century.

A. early 17" B. late 17" C. early 18" D. late 18"
8. “al-Mujarrabat™ was a book by Arab doctors about the history of .................................

A. the healthcare. B. the illness. C. the technological tools. D. medical schools.
9. Medicine will continue to develop becauseof ... ...... ..

A. the fast pace development of technology.

B. the rapid advance of purging.

C. the slow advance of purging.

D. none of them

# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

10. Nursing became a respectable job in the seventeenth century, [

11. Doctors usually discover new drugs while looking for ways to treat their patients.

# Choose the meaning / definition of the following word: (10 marks)

12. therapists means:
A. people who have been trained to give a particular form of treatment for physical or mental illness
B. a response of body tissues to injury of the body
C. the scientific study of the structure of the body
D. making somebody healthy and clean of bad thoughts

I1. Use of English:

# Choose the right answer: (130 marks)

13. Many old people have more .......................... than others when dealing with the young generation.
A. tolerant B. tolerates C. tolerantly D. tolerance
14. Throughout his career, hewona ........................... fortune of billions of dollars.
A. Insurance B. mind-boggling C. stepping-stone D. patent
15. A/An ..........................1s a specialist for babies and children.
A. cardiologist B. naturopath C. pediatrician D. ophthalmologist
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16. She hasbeen ........................ yoga recently.

A. getting into B. fitting 1n C. reaching out to D. keeping up with
17. Don't worry. It's a minor procedure and you'llbe ............................ within a week.

A. at death's door B. on the mend C. taking a turn for the worse D. under the knife
18. The police have .......................... the crime theatre in order to start investigation.

A. knocked at B. fenced oft C. eaten away D. driven 1nto
19. The lawyers were unableto ................................ against the man.

A. go under the knife B. follow through C. assemble the case D. beat around the bush
20. The cyclist ..................... his bike and set off quicklyonthe ..................... .

A. road / road B. rode / rode C. rode / road D. road / rode
21. Thevasefell ......................... the table and shattered on the floor.

A. onto B. out C. into D. off
22, Thedress .......................... I bought yesterday cost 20 dollars.

A. who B. whom C. where D. which
23. A plumber is a person ............cccceereeeenee..... JOb 18 to mend central heating, taps, etc.

A. that B. which C. whose D. both A and B
24. The police .......................... two people so far today.

A. interview B. have been interviewing C. have interviewed D. is being interviewed
25.She .......................... as a waitress for three years when he met her.

A. works B. had been working C. 1s working D. has worked
26. The secretary .......................... the manager some bad news recently.

A. has told B. have told C. tells D. is telling
27. Her father has had an accident. He ... ......... ... .......... both of his legs.

A. breaks B. has been breaking  C. has broken D. is breaking
28. The results of the research ... .................. ... to the students by their professor.

A. are showing B. have shown C. have been show D. have been shown
29.Itis ..................... that the government will reduce the taxes.

A. believe B. believed C. believing D. believes
30. Camera footage shows that illegal goods .......................... into the warehouse last week.

A. smuggle B. are smuggled C. were smuggled D. smuggled
31. That shop isn’texpensive. I .......................... my watch mended there last week.

A. get B. gets C. got D. am getting
D RO, v ssmrsmnrmmsmcsiona TS DN ssaramsrsssssinsme VOSIOAY:

A. has / reduced B. will have / reduced C. doesn’t have / reduced D. had / reduced
33. The moment my brother .......................... i1n Syria, we will hold a party.

A. arrives B. will arrive C. is going to arrive D. is about to arrive
34. Qurexams .......................... on October 8" .

A. starts B. start C. have started D. are about to start
35. The last sound of the -ed in the word "educated” is pronounced

At/ B. /d/ C. hd/ D. /it/
J6. Hesshowed a/an ... ... .c.oaees e o IETESE W the project.

A. INcreased B. mnCREASed C. perFECT D. conFLICT
37. You receive a bill higher than it should be. You ring the manager of the shop. (Express Complaint)

A. Please accept my excuse. C. I hurt your feelings.

B. Please forgive me. D. It’s very inconvenient.
38.Your friend is a heavy smoker. (Give him advice to quit smoking.)

A. If I were you, I would quit smoking. C. Yes, you're right. I'll do that.

B. You'd better stop smoking. D. Both A and B
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II1. Writing:
A- Ask about the underlined words in each sentence: (12 marks)

B: The United Nations was established in 1945.

B: You should address the letter to the guest speaker.
B: We have been talking about the project for weeks.
B: He was short and fat in his childhood.

B- There are four mistakes in the following paragraph. Find them out and correct them. then write
down the paragraphs: (8 marks)

I ive 1n a large flat on Damascus. I have two sisters. They are called mary and Rose. We get up at seven
o clock every morning I leaves the flat at eight and walk to the university. I finish classes at five or I arrive
home at six.

C- Write a paragraph of no less than 80 words on the following topic: (30 marks)

"Give some advice to people of your age who are going to start a new job."

— Ul gt -
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I. Reading:

Model answers
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Remarks

from 1 to 3) Each item i1s allotted 10 marks.

1. C. education
2. B. allows

3. D. regardless

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 4 to 5 : Each item 1s allotted 10 marks.

4. T/ True
5. F/ False

- Only the mentioned answers are accepted.

- I the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s accepted,
e.g. (V/ X) or (Usd 4l ).

- If the student writes the correction of the sentence, the
answer rates full mark.

(question 6): This item is allotted 10 marks.

6. D. can continue for a long time

B- (from 7 to 9): Each item is allotted 10 marks.

7.D. late 18"
8. B. the illness.
9. A. the fast pace development of technology.

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices tor the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 10 to 11 ): Each item is allotted 10 marks.

10. F / False
11. T/ True

- Only the mentioned answers are accepted.

- It the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false is accepted,
e.g. (V/x)or (Wi ) pua),

- If the student writes the correction of the sentence, the
answer rates full mark.

is item is allotted 10 marks.

(question 12): T

12. A. people who have been trained to give a
particular form of treatment for physical
or mental illness

Correction Scale : 6/1/2022

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.
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I1. Use of English

II- (from 13 to 38 ): Each item is allotted S marks.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer and the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the same number, consider the first.

13.
14.
15.
16.
17.
18.
19.
20.
21.
22,
23.
24.
25.

. has told

. has broken

. have been shown
believed

. were smuggled

. got

. had / reduced
arrives

start

. 1d/

. INcreased

. tolerance 26.
. mind-boggling 27.
. pediatrician 28.
. getting 1nto 29.
. on the mend 30.
. fenced off 31.
. assemble the case 32.
. rode / road 33.
. off 34.
. which L
. whose 36.
. have interviewed 37.

had been working 38.

It’s very inconvenient.
Both A and B

F oD AARREPARD
Do AREPEDAARTD AP

III. Writing:

A- A(from 39 to 42): Each item is allotted 3 marks.

- If the student writes a wrong question word his answer rates zero.

- Deduct 1 marks for a grammar mistake provided the total deduction shouldn't exceed 2 marks.
- If the student writes two questions for the same answer, consider the first.

- Overlook copying mistakes.

39. When was the United Nations established?

What year was the United Nations established 1n?

In what year was the United Nations established?
40. Who should I address the letter to?

Whom should I address the letter to?

To whom should I address the letter?

41. How long have you been talking about the project?
42. What did he look like in his childhood?

B. This question 1s allotted 8 marks.

- Each mistake being corrected rates 2 marks.
- If the student writes only the correction, his answer rates 4 marks.

Correction Scale : 11/1/2022 page 2
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C - Composition: (30 marks)
The 30 marks are distributed to 5 fields as follows:

6 marks: communication

6 marks: spelling and punctuation.
6 marks: grammar.

6 marks: vocabulary

6 marks: task response.
Remarks:

- Deduct 1Imark for any mistake.
- Deduct only 1mark for the same repeated mistake.

- On average, a paragraph between70-80 words rates(30 marks).
- A paragraph between 60-69 words rates (25 marks).
Each field is allotted Smarks.
- A paragraph between 50-59 words rates (20 marks).
Each field is allotted 4marks.
- A paragraph between 40-49 words rates (15 marks).
Each field is allotted 3marks.
- A paragraph between 30-39 words rates (10 marks).
Each field is allotted 2marks.
- If the student writes less than 30 words, give 2 marks for each correct relevant sentence.
- If the student writes more than the required number of words, his topic is accepted.

Correction Scale : 6/1/2022 page 3
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I. Reading:

A- Read the following text and do the tasks below.

The United Nations was established by the Charter of the United Nations and Statute of the International
Court of Justice. The Charter was signed on 26 June 1945 by the representatives of 50 countries including
Syria; Poland signed on 15 October 1945. There were 51 founding members in 1945. The United Nations (UN)
officially came into existence on October 24, 1945 after ratification of the Charter. The day is now celebrated
each year around the world as United Nations Day. The Security Council contains five permanent members:
China, France, Russian Federation, the United Kingdom, and the United States, and ten non-permanent
members elected for two-year terms by the General Assembly.

The United Nations (UN) was the second multipurpose international organization established in the 20th
century that was worldwide 1n scope and membership. Its predecessor, the League of Nations, was created by
the Treaty of Versailles in 1919 and disbanded in 1946. The UN also has regional offices in Geneva, Vienna,
and Nairobi. Its official languages are Arabic, Chinese, English, French, Russian, and Spanish.

At the beginning of the 21st century, the UN and its programmes and affiliated agencies struggled to address

humanitarnan crises and civil wars, unprecedented refugee tlows, the devastation caused by the spread of AIDS,
global financial disruptions, international terrorism, and the disparities in wealth between the world’s richest
and poorest peoples.

# Choose the right answer a, b, c or d: (30 marks)

1. The United Nations was established by ... ......................
A. the Charter of the United Nations.
B. the Statute of the International Court of Justice.

C. the General Assembly.
D. both A and B
2.0n........................... of each year, all countries around the world celebrate the United Nations Day.
A. June 26" B. October 15" C. October 24™ D. October 14"
3. The League of Nations was disbanded ........................... the creation of the United Nations.
A. before B. after C. by the time D. previous to
# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

4. There are five official languages used in the United Nations .

5. The non-permanent members are changed by the General Assembly each two years.

# Choose the meaning / definition of the following word: (10 marks)

6. ratification means:
A. a statement of the principles and purposes of an organization
B. making something valid by confirming it
C. continuing to exist for a long time
D. a system that existed before another one

-1- Ll Aadall @ o
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B- Read the following text and do the tasks below.

Medical devices can be divided into two parts, diagnostic medical devices, most notably the ultrasound
device, and medical therapeutic devices used in chemical treatments. Another classification includes three
categories. Firstly, we have simple devices such as bandages, body temperature meters and others. There are
also more complex devices that require a certain amount of caution, such as those that emit X-rays. Finally,
there are those which require a deep study before their use, such as the valves used in the artificial heart, in
addition to the artificial joints.

Medical engineers work in many fields like well-equipped hospitals and clinics in particular, medical
companies and the advanced major research centers in universities. In the end, medical engineers work 1n
cooperation with all disciplines, including nursing, medicine, biology, and other disciplines.

In short, 1t 1s certain that this new branch of engineering has improved healthcare to a great extent.
Furthermore, the design process i1s better as a result of new technology with 3D printing being the most
favoured new tool. Nowadays biomedical engineers are able to develop new procedures using knowledge from
many technical sources; or conduct research needed to solve clinical problems.

% Choose the right answer a. b, c or d: (20 marks)

7o i e ... are the two parts of medical devices.
A. Sport devices and medical therapeutic devices
B. Diagnostic medical devices and mobile devices
C. Diagnostic medical devices and medical therapeutic devices
D. Sport devices and mobile devices
8. Complex devices, such as those that emit x-rays, require ... ...... ...

A. less caution. B. more caution. C. trivial caution D. no caution
9. Bandages, body temperature meters and others are examplesof ... ...................................
A. complex devices B. simple devices C. complicated devices D. both B and C
# Read the following sentences and put (T) for true sentences and (F) for false ones: (20 marks)

10. Medical engineers work in many fields like well-equipped hospital, clinics and financial companies.

11. Medical engineering 1s able to develop new procedures from many technical sources.

# Choose the meaning / definition of the following word: (10 marks)

12. therapeutic means:
A. to carry out or do something
B. an arm or a leg
C. relating to the treatment or cure of an illness
D. a field of study

I1. Use of English:

# Choose the right answer: (130 marks)

13. Future plans and ... ....................... have a great importance in a person’s life
A. decide B. decisions C. decisive D. decisively
14. Failures are often considereda/an ... ..................... of success in all areas of life.
A. eliminated B. insurance C. stepping-stone D. patent
15. I have got terrible acne and nothing in the pharmacy has worked.  havetogotothe .............. ...
A. dermatologist B. cardiologist C. ophthalmologist. D. pediatrician

-2~ AN Amiall § ads
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16. She didn’treally ..........................

A. reach out

A. fitting in
18. l haveto ... .......

-3l Axdall -

~with her workmates 1n her previous job.

B. fit in C. get into D. keep up
17. It was miraculous that the little girl fully recovered because she was ... ...... ... with sepsis and pneumonia
B. on the mend C. at death's door D. on a roll
...... the car to change the tire.
B. jack up C. drive 1nto D. eat away

A. fence off

19. The lawyer 18 very good and he does everything ..

A. by the book

20. We usually ...........
A. by / buy

21. We drove ... ..... ...
A. about

22, My cousin, .
A. which

23. This 1s the house ............

A. where

28 FIO IO oo s i sniinn

A. have you been using

A. had discussed

26. Scientists announced the launch of the new drug last week They ...

A. develop

27 1 can't leave now. | ... ...

A. was waiting

8.1 R S
A. hwe ﬂhkﬂd

29 Tom Cruise ...

A. say

30. Education must be ... ....

A. direction
31.Rana ............
A. had / cut

32. Mrs. Hakim...... ... ... ...

A. will have / checked

33. 1 1hinkethie WeHAIBETE .. vovvivnmnus s s

A. will be

I AT A8 s oo s mrmiivans

A. will receive

B had you had
25. By the time I got to the meeting, they ... ...

her hair... ..

C an act nf god

B. assemble the case D. ace a test
..... our food fromashop ..................... the corner.
B. by / by C. buy /by D. buy / buy
.. London to Manchester city.
B. out C. onto D. from
...... volunteers at a local homeless shelter, won the lottery.
B. whose C. that D. who
e .. 1 grew up 1n.
B whlch C. whose D. when

.. your computer”’
C. are you having D. had you have
... the important 1ssues without me.
D. discuss
..... 1t for five years.

B. will discuss C. has been discussing

B. has developed C. has been developing D. had been developing
_ - ~for an important client.
B had wmled C. have waited D. am waiting

... by the commuttee some difficult questions in the interview yesterday

35. The last sound of the -ed in the word "wanted" is pronounced”

A. /t/

36. Weneedto ...............

A. CONduct

B. have been asked C. was asked D. had asked
- to be the richest movie star
B ‘iﬂld C. is said D. has said
..to the development of human personality.
B chrecled C. directs D. directing
- twice a year.
B haf. f’cut C. had to have / cut D. didn’t has / cut
DB HeartoBat .....ocvonsne v NEXE WEEK.
B. had / checked C. has / checked D. didn't have / checked
too hot tomorrow.
B. was C. will have be D. are
. my results, I will phone you.
B. receiving C. will be receiving D. receive
B. /d/ C. ad/ D. /it/
- _our sales figures.
B REplay C. inCREASE D. INcrease

37. You are in hospital visiting a friend who has broken his leg. (Express Sympathy)

A. Congratulations !

B. You really deserve this honour.

C. I'm sorry about what happened
D. Very well done! Keep 1t up.

38. What about joining our new project, Tareq? (Express hesitation)

A. I’'m not sure about it.
B. Well, I agree.

C. No. I refuse.
D. Impossible!
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II1. Writing:
A- Ask about the underlined words in each sentence:

B: My brother is studying medicine.

B: The dam was constructed in 1945.

B: Alan Emtage developed the world’s first Internet search engine.

B: Houses by the sea are usually eaten away faster because of moisture.

B- Choose the letter of the underlined word or group of words that is not correct:

43. Throughout his career, he wins a mind-boggling fortune of billions of dollars.
A B C D
44. How are you getting on, Simon? We are thinking it's great here.
A B C D
45. When are the taxes going to be paved?
A B C D
46. Last Sunday, Tareq has his windows cleaned.
A B C D

C- Write a paragraph of no less than 80 words on the following topic:
" A person s rights and duties in society."

— el il -
Our Best Wishes

(12 marks)

(8 marks)

(30 marks)
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I. Reading:

Model answers

Remarks

L
A- (from 1 to 3) Each item is allotted 10 marks.

1. D.both Aand B
2. C. October 24"
3. B. after

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 4 to 5 : Each item 1s allotted 10 marks.

- Only the mentioned answers are accepted.

- If the student writes both "true" and "false" for the
same number, consider the first.

- Any sign or word that denotes true or false 1s accepted,
e.g. (V/ X) or (Usd 4l i),

- If the student writes the correction of the sentence, the
answer rates full mark.

(question 6): This item is allotted 10 _marks.

6. B. making something valid by confirming it

B- (from 7 to 9): Each item is allotted 10 marks.

7. C. Diagnostic medical devices and medical
therapeutic devices.

8. B. more caution.

9. B. simple devices

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, it rates full mark.

- Only the mentioned answers are accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

(from 10 to 11 ): Each item 1s allotted 10 marks.

10. F / False
11. T/ True

- Only the mentioned answers are accepted.
- If the student writes both "true" and "ftalse" for the

same number, consider the first.

- Any sign or word that denotes true or false 18 accepted,
e.g. (V/x)or (s 3l zaa).

- If the student writes the correction of the sentence, the
answer rates full mark.

(question 12): This item is allotted 10 marks.

12. C. relating to the treatment or cure of an
illness

- Only the mentioned answer 1s accepted.

- Both the letter corresponding to the correct answer and
the correct choice are accepted, or one of them.

- If the student writes two letters or two choices for the
same number, consider the first.

- If the student writes only the first word of the correct
answer, 1t rates full mark.

Correction Scale : 9/1/2022 page 1

CamsScanner 2 Wgs a>gwaall

CamScanner 2 Wigs d> guwaall



I1. Use of English

II- (from 13 to 38 ): Each item is allotted 5 marks.

- Only the mentioned answers are accepted.
- Both the letter corresponding to the correct answer and the correct choice are accepted, or one of them.
- If the student writes two letters or two choices for the same number, consider the first.

13. B. decisions 26. D. had been developing
14. C. stepping-stone 27. D. am waiting

15. A. dermatologist 28. C. was asked

16. B. fitin 29. C. is said

17. C. at death's door 30. B. directed

18. B. jack up 31. B. has / cut

19. A. by the book 32. A. will have / checked
20. C. buy / by 33. A. will be

21. D. from 34. D. receive

22. D. who 35. C. Ad/

23. B. which 36. C. in CREASE

24. A. have you been using 37. C. I'm sorry about what happened
25. A. had discussed 38. A. I'm not sure about 1t.

II1. Writing:

A- A(from 39 to 42): Each item 1s allotted 3 marks.

- If the student writes a wrong question word his answer rates zero.

- Deduct 1 marks for a grammar mistake provided the total deduction shouldn't exceed 2 marks.

- If the student writes two questions for the same answer, consider the first.

- Overlook copying mistakes.

39. What (discipline) is your brother studying?
40. When was the dam constructed?
What year was the dam constructed 1n?
In what year was the dam constructed?
41. Who developed the world’s first Internet search engine?
42. Why are houses by the sea usually eaten away faster?

B. This question is allotted 8 marks.

- Each item 1s allotted 2 marks.
- Both the letter corresponding to the correct answer or the correction is accepted.
- If the student writes the true letter with wrong correction, his answer rates full mark.

43. B / has won
44. C/ think
45. D / paid
46. A / had

Correction Scale : 9/1/2022 page 2
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C - Composition: (30 marks)
The 30 marks are distributed to 5 fields as follows:

6 marks: communication

6 marks: spelling and punctuation.
6 marks: grammar.

6 marks: vocabulary

6 marks: task response.

Remarks:

- Deduct Imark for any mistake.
- Deduct only 1mark for the same repeated mistake.

- On average, a paragraph between70-80 words rates(30 marks).
- A paragraph between 60-69 words rates (25 marks).
Each field is allotted Smarks.
- A paragraph between 50-59 words rates (20 marks).
Each field is allotted 4marks.
- A paragraph between 40-49 words rates (15 marks).
Each field is allotted 3marks.
- A paragraph between 30-39 words rates (10 marks).
Each field is allotted 2marks.

- If the student writes less than 30 words, give 2 marks for each correct relevant sentence.

- If the student writes more than the required number of words, his topic is accepted.

Correction Scale : 9/1/2022 page 3
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I- Read the following text and do the tasks:

The rainforest of the Amazon region of Brazil in
South America covers five percent of the world's land
surface and 1s home to at least 30 percent of the
world's animals and plants. The area 1s also the home
of 220,000 people from about 180 different tribes who
live deep 1n the forest. The rainforest itself 1s an
important environment but, because of its size and
location, 1t also plays a vital part in controlling the
world's chimate. It does this by taking in carbon
dioxide and releasing oxygen.

Recently, however, large areas of the Amazon
rainforest have been cut down to make more land for
farmers. Farmers use most of the new land to grow soya
beans, which they export to other parts of the world to
be used as amimal food. Increasingly, some soya beans
are also being turned into food for human consumption.

Other areas of the rainforest are cleared by
ranchers who use the land for their cattle, by loggers
who sell the valuable tropical hardwood from the trees
they cut down, or by o1l companies who are trying to
find more oil.

In addition to destroying ancient forests and
changing the world’s climate, deforestation i1s having
a devastating effect on native population who are
dependent on the rainforest for everything they need,
from food and tools to medicines and shelter.

# Answer the following questions: (18 marks)

1. Why does the rainforest play an important role in the
climate ?

2. Mention two reasons that clear areas of the
rainforest .

3.What does the rainforest provide the native
populations with?

# Find words in the text which mean the following:
(10 marks)

4. weather conditions in general
5. pieces of equipment

# Rewrite these sentences about the text to correct
the information: (12 marks)

6. The rainforest covers 30 percent of the world’s
land surface .

7. Loggers use the rainforest to look after their cattle .

(YerY=1e1) Jo¥ adll jlaied
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I1-Read the following text then do the tasks below:

One of the most significant moments in IT history
occurred at the close of the twentieth century when
experts predicted that computer systems would
malfunction at midnight on 31 December 1999.
Computer scientists speculated that IT programmes
would stop working or produce incorrect results
because they stored years with two digits instead of
four — 98 1nstead of 1998, for example. They believed
that the year 2000 would be represented by 00, and
would be interpreted by software as the year 1900.
This became known as the Millennium Bug, or the
Year 2000 Problem. They predicted that IT systems,
ranging from meteorological devices and hospital
equipment to data storage systems in governments,
banks and airports, would fail. It was thought that
embedded systems that also made use of date logic,
such as utilities and other crucial infrastructure, would
collapse too. When midnight arrived, the Millennium
Bug caused only minimal damage; some Australian
bus-ticket machines failed to work and a few British
banking transactions were temporarily disrupted.
Many still debate whether the Millennium bug’s
limited effect was thanks to substantial government
expenditure or whether its predicted threat was over-
stated by the media.

# Choose the correct answer a, b or ¢:(12 marks)

8. The Year 2000 Problem happened at the
the twentieth century.

a. end b. beginning c. start
9.The Milletinium BUg CAUBE ...-..qonvsssvssssns
a. big damage b. huge damage c. little damage
# Match two of the underlined words from the text
to the definitions/meanings below:(12 marks)

........

10. to stop working and functioning
11.a period of one thousand years

#Complete  the following sentences
information from the text:(12 marks)

with

12.Because computers stored years with two digits instead
of four, computer scientists predicted that ...

13. The expected threat of the Millennium Bug was
expressed strongly by ... ......... ..

_1_ %M‘M!@ﬁ
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III- Complete the following paragraph by filling in
the gaps:(18 marks)

14. Sand gazelles are 1deally suited ... ... ... the desert
15 environment with their white heads ... ... ... .. sand-
16. colored bodies. This allows them toblend into ..........

desert, camouflaging them from predators.

IV- Fill in the spaces with words from the list.Use
each word once only:(24 marks)

carried, illnesses, work, with, putting

17. Doctors heard of Pasteur’s .......... . They began
18. to be more careful. They stopped ............ people
19. ......... different kinds of illnesses in the same
20. room. Germs could be ... .............. ., they

thought , from one person to the other .

V- Complete the following dialogue by writing
suitable questions or_answers. Write at least

three words for each question:(32 marks)

BRI . s s e S B S S R T A e
Amer: The Eden Project 1s a living plant museum.
L T
Amer: It opened 1n the year 2000.

POTBONL ..o iaiin mmsimen s nsis e B sl
Amer:Yes, | have visited it many times.

Fadi: Would you like to visit the Eden Project? Why?
24. Amer: ........

VI-Rewrite the following sentences as required in
brackets: (32 marks)

25. Hani won’t give me my CD back .
(use “I wish” ......... )

26.People hunt kangaroos for their fur and meat .

( make passive voice )
27. My brother spends too much time on TV .

(Use * I wish * )

28. The company has built many offices in the city centre.

(make passive voice)

VII- Complete the following sentences using clauses:
(14 marks)

29.My mother was worried because ..................
30. If you misuse the equipment , .............. ...

VIII-Choose the correct words in brackets:
(18 marks)

31. My encyclopedia of nature 1s full ( with , of ) many
valuable books about plants .

32. 1 ( may , must ) come to the town next week . If I
come , 1 will call you .

33. The council 1s ( running out of , keeping up with )
enough space for parking cars .

IX-Correct the verbs in brackets:(18 marks)

34. I ( not have ) ---------- any drink so far today .

35. The Red Crescent ( provide )--------- aid during war
and peacetime .

36. After I'd finished work , I ( go ) -------- shopping

with my classmates .

X- Translation:

-Translate the following sentence into Arabic:
(10 marks)

37. On Earth human beings are always moving against
the force of gravity .

-Translate the following sentence into English:
(8 marks)

38. 4ilia I gda 4S 0l yadts Jec Jim@ﬂl&dlﬁimm

XI-Composition:(5(0 marks)

- Write a composition of no less than 80 words on
the following topic:
“Water shortage 1s one of the most important issues in

the 21" century .

- ) gl -
Our Best Wishes,
Teachers of the English Language
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Remarks

I- (from 1 to 3): Each item is allotted 6 marks.

1. Because of its size and location .
Because 1t takes in carbon dioxide and releases
oxygen .

2.( Large areas of the rainforest are cleared ) by

ranchers who use the rainforest for their cattle or by
loggers who sell the valuable tropical wood ... / ol
companies who try to find more o1l / ...

3. (It provides them with) food , medicines , tools and shelter.

- Any logical answer related to the text 1s accepted.

- Overlook irrelevant information unless it exceeds
one sentence . If so, the answer rates zero.

- Deduct 1 mark for any kind of mistake provided
that the total deduction shouldn’t exceed 3 marks.

(from 4 to 5): Each item is allotted S marks.

4. climate
5. tools

- Wrong answers rate zero.
- If the student writes two answers for the same
item. consider the first.

(from 6 to 7): Each item is allotted 6 marks.

6. The rainforest covers five /S percent of the world’s
land surface .

7. Ranchers use the rainforest to look after their cattle .

/ Loggers use the rainforest to sell valuable tropical wood.

II- (from 8 to 9): Each item i1s allotted 6 marks.

8. (a) end
9. (c) little damage

- Any logical answer related to the text is accepted.

- Deduct 1mark for any kind of mistake provided
that the total deduction shouldn’t exceed 3 marks.

- If the student writes only the correction, his

answer rates 3 marks.

- Either the letter or the complete answer 1s accepted
or both.

- Wrong answers rate zero.

- It the student writes two answers for the same
item, consider the first.

(from 10 to 11): Each item is allotted 6 marks.

10. malfunction
11. millennium

= Wrﬂng AnsSwers rate zero.

- If the student writes more than one answer for the

same item, his answer rates zero even if one of
them 1s correct.

(from 12 to 13): Each item 1s allotted 6 marks.

12. ... ... ... ... IT programmes would stop working or
produce incorrect results.
| [ RIS ¢ 5

III- (from 14 to 16): Each item 1s allotted 6 marks.

14. to
15. and
16. the

Correction Scale / mid-year exam / 3™ sec /

- Any logical and correct completion 1s accepted.

- Deduct Imark for any kind of mistake.

- Any addition or omission that doesn’t make
distortion is overlooked, or else it rates zero.

- If the student writes two answers for the same
item. consider the first.

- Wr ong answers rate zero.

Page 1
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IV- (from 17 to 20): Each item is allotted 6 marks.

17. work
18. putting
19. with
20. carried

V- (from 21 to 24): Each item is allotted 8 marks.

21. — What is the Eden Project ?
22. — When did it open ?
23. — Have you visited it ( many times ) ?
24. Any relevant answer.
e.g. Yes, because I like plants .

VI- (from 25 to 28): Each item i1s allotted 8 marks.

25. I wish Hani would give me my CD back .

26. Kangaroos are hunted for their fur and meat .
27. 1 wish my brother / he didn't ( wouldn’t ) spend so

much time on TV .
I wish my brother spent less time on TV .
28. Many offices have been built in the city center by
the company.

VII- (from 29 to 30):

29. ........... ( answers vary)
all past tenses
30. ........... ( answers vary)
subject + ( will / can / may ) + ( infinitive )

VIII- (from 31 to 33)
31. of

32. may

33. running out of

- Only the mentioned answers are accepted.

- If the student writes two answers in one space, his
answer rates zero.

- Repeating the same answer more than once rates
zero, even if one of them is correct.

- Answers in the form of numbers rate zero.

- Deduct 3 marks for a wrong question word.

- Deduct 2 marks for a grammar mistake provided
the total deduction shouldn't exceed 4 marks.

- If the student writes a wrong question word with
more than one grammar mistake, the answer rates
Zero.

- If the student writes two questions for the same
answer, consider the first.

- Any logical question or answer related to the
dialogue 1s accepted.

- Deduct 2 marks for each grammar mistake
provided that the total deduction shouldn't exceed
4 marks if the sentence still makes sense.

- In answers (25-26) omitting “I wish” rates zero.

- In answer (26), deduct one mark if for writing
"really” instead of "so".

- Any logical answer related to “wish’ is accepted.
- In answers (27), deduct 2 marks if the student

doesn't write the agent "by predators”.

Each item 1s allotted 7 marks.

- The completion that doesn’t make sense rates zero,
even if it 1s grammatically correct.

- If the completion doesn’t have a subject or a verb,
the answer rates zero.

- Deduct 2 marks for any grammar mistake.

- Deduct 1 mark for any spelling mistake.

Each item 1s allotted 6 marks.
- Two answers for the same item rates zero.
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IX- (from 34 to 36) - Each item is allotted 10 marks.

- Only the mentioned answers are accepted.

34. haven't had - Complete (verb forms) are required, otherwise the answer rates
35. provides Zero.

36. went - Wrong answers rate zero.

X- Translation:

- Sentence 37 i1s allotted 10 marks. It 1s divided into two units.
o e (Al chai} Gydull S chas -37 5 marks for the first unit and 5 marks for the second one.

- Sentence 38 1s allotted 8 marks. It 1s divided into two units.
4 marks for the first unit and 4 marks for the second one.

- Each unit 1s treated separately.

- Deduct 1 mark for:

- a missing or wrongly translated word

38. { My father retired last year after he had | - @ grammar mistake

worked ( had been working ) in the | - @ spelling mistake,
same company all his life . } provided that the total deduction for the whole sentence

shouldn't exceed half of the allotted mark 1f the sentence still
makes sense.

ALiladl 338 LaSas Lails uaYl

Sentence 38 is allotted 8 marks.

- Any logical translation 1s accepted.

XI- Composition: (50 marks) - Deduct 1mark for any mistake.
- Deduct 1mark once for the same repeated mistake.

The 50 marks are distributed to 5 fields as
follows:

10 marks: communication

10 marks: spelling and punctuation.

10 marks: grammar.

10 marks: vocabulary

10 marks: task response.

- On average, a paragraph between 70-80 words rates (50 marks).
- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks.
- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks.
- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 8 marks.
- A paragraph between 30-39 words rates (25 marks).
Each field is allotted S marks.
- A paragraph between 20-29 words rates (20 marks).
Each field is allotted 4 marks.
- If the student writes less than 20 words, give S marks for each
correct relevant sentence.
- If the student writes more than the required number of words, his

topic 1s accepted.
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